OCEANUS

lHeliCoil

Thread technology for high-s trength fas tenings
Simple — quick — robust

BOLLHOFF

Armstrong Limited



S SULLHOFF

OCEANUS TECHNICAL
DATA & TOOLING

‘elifoll e

THREAD TECHNOLOGY
TheSystem
The Versions

The Applications
The Advontoges

Strength
Coarrosion ond Thermd Resistonce

Insert Materid ond S urface Treatment
Determination of the Nomind Lengths

DESIGN GUIDELINES

Minimum Wdl Thickness

Nationd & Internctiond S tandarcs
High Temperature Applications
Maognetic Properties

INSERT DATA & TOOLING
Metric inc S park Plug)

UNC & UNF

BSW &BSF

GBSPF) &BA

Extraction Todling

POWER TOCLING

Pneumatic Ins tdlation Todls

Toadl Assembly Components

Air Pressure S eftings

Power Tooling Part Numboers

Electricd Instdlation Tool Type E-PS G 256
Electricd Instdlation Tool Type ES-410

TAPPED HOLE DATA
Metric

UNC & UNF

BSW &BSF

GBS PF)

BA

DRILLING & TAPPING DEPTHS
Metric

UNC & UNF

BSW &BSF

GBS PF)

BA

Examples of Helicoll® Applications

KITS
Professiond Sinde Size Kits
Other Repar Kit Options




BULLHOFT |

HELICOIL® thread technology

The system

Thread inserts crecte
high-s trength fos tenings
in low-strength metd
materids and have been
well established in the
market for over 50
years. These stanless
sted thread inserts are
formed into flexible
spirds of proven qudity
wire with arhombic
profile. After instdlation,
the tong con bbe broken
off at the notch
(oredetermined brecking
paint) to dlow through
hole threads.

The versions

HELICOIL® thread inserts are availadle in two versions:
HELICOIL® free running ond HELICOIL® screwlock.

B oth versions have an optimd design. Like ascrew,
the thread insert is simply screwed in with on
instdlation toal. HELICOIL® inserts are monufoctured
from high tensile stanless steel wire that hcs been
formed into a diomond s ection to exacting dmensiond
stondards.

[ HELICOIL® free running
Every thread of the predision-formed, rhombic
profile is free running. Theresult is on internd thread
true to gauge that con be used from both ends.

I HELICOI® screwlock
The HELICOIL® saewlock bears the same benefits
regarding threads s the HELICOIL® free running
insert. Additiondly on integrated saew damping
aeaserves s asaewlock. Locking of the screw is
ochieved by one or severd polygond-s haped
threads that domp the fleanks of the bolt. The result
is aflexible ond resilient frictiond locking. The
ochieved domping torques are comparale with
DIN 267 Part 15, ISO 2320 or con dso be adopted
to your individud application.




B EOLLHOFF

HELICOIL® thread technology

The applications

HELICOIL® inserts ensure high-strength threads tronsferring
forces from flank to flank into the holding thread. This is a
system of high relidbility for which internctiond indus trid
property rights have been filed ond which is avaldole
worldwide. HELICOIL® provides thread inserts produced
according to consis tent materid and qudiity s pedifications.
This techndlogy is the basis of nationd, ceronauticd ond s o
military stondards. Mony leading large-scde users bes e their Dormaged threcd Repaired threcd
monufocturing stondards on this system.

M Structurd component
Wherever low-s trength materids (e.g. adluminium, magnesium alloys and fibre-reinforced
plastics ) are used, HELICOIL® is indispens dole for thread reinforcement. This cpplies particularly to the
ceros pace indus try, mechanicd and plont engineering, the automotive indus try and electricd ond medicd
engneering. Thread reinforcement prevents wear of the threaded hole — even dfter frequent use.

HELICOIL® dlows miniaturis ation ond lightweight cons truction in the development of serid parts. The
required strength is provided by thread reinforcement with HELICOIL®.

[ | Reject recovery and thread repair
HELICOIL® thread inserts cre internationdly gpproved for the economicd ond permaonent repair of doamaged
ond worn out threads.

Apart from repair of vduaddle individud components, the possibility to return ond sdvage large volume
components which have been rejected due to faults in the thread production is of mdor importonce.

The advantoages

I Wear resistance
HELICOIL® threcd inserts are
made of aus tenitic chrome-
nickel sted (minimum tensile
strength of 1,400 N/mm2).
The raled threcd hos ahigh
surface qudity. This ensures a
high-strength, wear-resis tont
thread with reduced friction
torque. This dso leads to an
improved utilis ction of the
yield point of high-strength
baolts. Torsion stress is
considerably reduced
compared to tapped threods.




N Cceanus BOLLHOFF

HELICOIL® thread technology

The advaontages

[ strength Force F
The flexible characteristics of the HELICOIL® thread

insert ensure even load ond stress dis tribution ond
cons equent optimum flonk contact. Deficiendes in
pitch ond ongle are bdonced out over the entire
length of the thread insert. With this, an optimum
force transmission from balt to threaded hole is
ochieved. The qudity of screwed connection is
consideraoly increcs ed — for static os well s for
dynamic operating loads.

The improved dis tribution of preloco-force increcs es HELICOIL®
the fatigue strength of dynamicdly locded balts.
This is why HELICOIL® inserts are dso used for high-

strength holding materids, e.g. steel or cost iron dloys.

[ Resistance to corrosion and thermdl effects
The bcsic materid of HELICOIL® ensures that balts
do not seize under normd environmentd influences.
For thermdlly highly stressed balted connections,
HELICOIL® threcd inserts of nickel dloy bosed
materids with and without coating are avalcole.
Elcstiaity ond spring force are cons tont even under
high temperatures. For materids which are
sus ceptible to corrosion, arange of surfoce
treaments are avaladle.




OCEANUS -

B EOLLHOFF

HELICOIL® Thread Technology

Materidls
Thread insert Minimum Avdlcble
Temperature tensile strength ot surface Examples of use
Materids® resistonce room temperature trectmento
Stdnless stedd A2 -195°C low temp. 1400 N/mrnr? stondard uses for generd light
X5 CrNi 18 10 425°C short-time dl strength construction, e.g.
Materid no. 1.4301 315°C long-time - dry lubricor categories > 8,8 duminium or
DID 734188 ting film ond materidse duminium dloys@
. — cadmium X X
Stadnless stedd A4 -195°C low temp. 1400 N/mm? plated —increcsed corro- generd light
X6 ONiMoTi 17 1220 425°C short-time —silver plated  Sive protection construction, sea
Materid no. 1.4571 315°C long-time - high grade dloy woter / chlorinated
316 CrNi steel saewse  water
Nitronic 60 260°C long-time - low threcd
friction
Bronze 300°C short-time 900 N/mm? - without - Cu work pieces
CuSN 6 250°C long-time - cadmium — expansion threads
Materid no. 2.1020.34 ploted - CrNi saews
Inconel X 750 750°C short-time 1150 N/mm¢ — without — thermd stress — ostronautics
NiCr 15 Fe 7 TiAl® 550°C long-time - silver plated in conjunction with — ceronautics
Materid no. 2.4669 corrosive protection - turbo-chargers
Alloy 90 900°C short-time
NiCr 20 Co 18 Ti 600°C long-time
Materid no.- 2.4632
Aluminium dloy 170°C short-time 500 N/mn - hard onodized — mognesium - vehide technology
AZnMgCu 1,50 150°C long-time - ary lubricar work pieces - leightweight
Materid no. 3.4365 ting film cons truction

@ Other materids or surface upon enauiry @ Spedd onti-corrosive mecsures must be made when utilising mognesium dloys
® If &rNi sarews are utilised, a commerddly availcble lubricont must be used @ Non-stock item, delivery upon enauiry

Determination of the Nominal Lengths

Guideline vdues for determining the length of the HELICOIL® threcd insert relctive to the parent materid

ond the screw yield point, vdid for temperatures of 20°C

Strength of the

pcrent materid S arew qudity category

Te;;"f,j};?;%‘h 1 1.~ 1~ 9.8 10.9 12.9 14.9

up to 100 1.5d 1.5d 2 d 2.5d 3 d 3 d - - -

> 100 - 150 1.5d 1.5d 2 d 2 d 2.5d 2.5d 2.5d 2.5d 3d
> 150 - 200 1 d 1.5d 1.5d 1.5d 2 d 2 d 2 d 2.5d 2.5d
> 200 - 250 1 d 1 d 1.5d 1.5d 1.5d 1.5d 2 d 2.5d 2.5d
> 250 - 300 1 d 1 d 1 d 1 d 1.5d 1.5d 1.5d 2 d 2 d
> 300 - 350 1 d 1 d 1 d 1 d 1 d 1.5d 1.5d 1.5d 2d
> 350 - 400 1 d 1 d 1 d 1 d 1 d 1 d 1.5d 1.5d 1.5d
> 400 1 d 1 d 1 d 1 d 1 d 1 d 1.5d 1.5d 1.5d

shea strength

The figures are vdid for materids with atensile to shear strength ratio of fersTe strength

= 0.65; like duminium ond steel dloys.

) ) shear strength
Cost iron dloys have aratio of tersiie strength 0.8to1.4

The guideline vdues must be cssessed so that the screw is dways the weckest part of the connection.
Fdling short of recommended nomind lengths is acceptadle, if it is proven by testing.
Intermediate lengths are dso avaldole.




- OCEANUS BOLLHOFF _

HELICOIL® Thread Technology Design Guidelines

Minimum Wdll T hickness

Assessment of the minimum wdl thickness is mainly | oo / [ smin = 175 x Duc |
pre-determined by the individud opercting dota. These 1 _ E

in turn determine the strength of the materid ond the { l\ // [?,'21'11 =0.375 x DHCJ
length of the thread. The quoted guidegline vdue N

formula applies to duminium, cost and wrought dloys
ond aHELICAI® screw-in thread length of 1.5 d.

gl D
d = nomind diometer
DHc = HELICOIL® outer diometer
a = remaning wdl thickness

Aeros pace & Military S pecifications  High Temperature Applications

AS 4736 to0 4748 BABSF/BSW/BSPF FR - Noturd DrD734 425°C
AS4947 10 4959 BA/BSF/BSW/BSPF FR - Cootrium Ploted Codhrium & Zinc Plated Upt0250°C
AS6733 10 6734 UNF FR — Ncturd Aloy 90 Upto 500°C (saewlack)
AS8455 108456 UNFAUNCFR — Gedrium Plcted Upto 650°C (freerunring only)
AGS3600 103699 UNFAUNCSL — Gohvium Plcted Mieieet Upto260°C
AGS3700 103799 UNF SL - Silver Plcted (HR503) LErEn 108 Upto300°C

HELICQOIL® wire thread inserts are avdlddle in arange
LN9039 Metric FR — Noturd & Cootrium Plcted of materids to meet with a number of temperature
LN9499 MericSL — Ndud & Gegrium Plded range requirements . Highest temperature cpplications

are supplied in Alloy 90 to BS HR 503, with ADS
qudiifications in the series listed below up to 500°C.

MA3279 103281 Metric FR — Naturd, Dry Film & Goohrium
MA3329 t0 3331 MetricSL — Naturd, Dry Film & Godhrium
NAS M122076 to 124850 UNFAUNCFR — Natud

NAS M21209 UNFAUNCSL — Natud, Dry Film & Goohrium

HELICOIL® inserts supplied by B dlhoff Armstrong Ltd
aganst the doove part numbers, conform to the Moterid,
Mechonicd ond Chemicd s pedifications, Product
Dimensiond criteria ond post treatment finishes ¢s
spedified in the cssodiated product standard.

HELICOIL® Alloy 90 Inserts HELICOIL® Alloy 90 Tooling
NVAS 1D 1.5D 2D 2.5D 3D NVAS INSERT TGQL | T.B.Q | EXTIRAJIONTCQL
1032 | AGB3706 | AGS3731 | AB3756 | A3781 | AB3718 10-32 ST1062 3581-3(-3) 1227-6
1/428 | AG3707 | AG3732 | AB3757 | A®3782 | AB3719 1/4-28 ST1088 3581-4(-3) 1227-6
51624 | AB3708 | AGS3733 | AB33758 | AG3783 | AB3720 5/16-24 ST1089 3581-5(-3) 1227-6
3/8-24 AGS3709 | AG3734 | AG3759 | AGS3784 | AG3721 3/8-24 ST1090 3581-6(-3) 1227-6
710620 | AG3710 | AG3735 | AG3760 | AG3785 | A3722 7/16-20 ST1091 3581-7(-3) 1227-16
1220 | AG3711 | A3736 | AB3761 | A3786 | AB3723 1/2-20 ST1092 3581-8(-3) 1227-16
9/16-18 | AG®3712 9/16-18 ST1130 1196-9(-3) 1227-16
5818 | AZ3713 5/8-18 ST1099 1196-10(-3) 1227-16
To order Alloy 90 HELICOIL® inserts to Aerospace S pedidis ed ins tdlation tooling detailed doove MUS T
stondards quote the relevont AGS part no. in the tddle be used in order to achieve the performonce
cbove spedifications lad down by the ADS .
Maognetism

HELICOIL® stanless sted inserts, due to cold working in the maonufacturing process, have aslight mognetic
signature. Tests conducted using a very sensitive gaussmeter (having nulled out the earths magnetic field) gave a
residud field of 2 to 10 gauss.

HELICOIL® stanless sted inserts should be avoided in instruments which could e doffected by magnetism.

For truly non-magnetic inserts use Nitronic 60 or Phosphor Bronze HELICOIL®.




HeliCoil

Manual
installation
tools




Type H-PSG
Threaded mandrel, pitch controlled,
with depth stop.

Type H-PMG
Plain mandrel, pitch controlled,
with depth stop.

Type H-PM
Plain mandrel, without pitch control,
no depth stop.

Type H-M
Plain mandrel T-Bar, with depth stop.




___(mm)

S =OLHOFF Greanus gy

METRIC Insert Data

w 0 %
;3 g g INSERT LENG'H FREE QDA NQ FREE CGALS PREVALING
3 5 |3 TRQUE
L ES | g8
xo »° 1D 1.5D 2D 2.5D 3D MN MAX 1D 1.5D 2D 2.5D 3D MAX MN
1 2 6 16
M2 x 0.4 F102 S102 2 8 4 5 ) 2.6 2.8 2.9 49 6.9 8.9 10.9 0.12 Nm| 0.003 Nm
M2.2 x 0.45 F1022 S$1022 2.2 8K} 4.4 5.5 6.6 2.8 2.9 3.2 54 7.8 10 12.3 0.14 Nm| 0.02 Nm
M2.5 X0.45 F1025 S1025 2.5 3.75 5 6.25 7.5 3.3 3.5 3.5 59 8.1 10.5 12.9 0.23 Nm| 0.05 Nm
M3 X0.5 F103 S$103 3 4.5 6 75 9 3.8 4.0 3.9 6.3 8.7 11.1 13.5 0.45NmM| 0.1 Nm
M3.5X0.6 F1035 $1035 &3 5.25 7 8.75 10.5 4.55 4,75 3.7 6.3 8.7 11.2 183 0.68 Nm| 0.12 Nm
M4 X0.7 F104 S104 4 6 8 10 12 5.15 5.35 87 6.1 8.4 10.9 13.2 0.9 Nm |0.15Nm
M4.5 X0.75 F1045 S1045 4.5 6.75 9 11.25 185 6.02 5.77 3.9 6.6 9.3 11.9 14.6
M5 X0.8 F105 S105 5 7.5 10 12.5 15 6.35 6.6 43 6.9 9.7 12.3 14.8 1.6 Nm | 0.3 Nm
M6 X 1.0 F106 S106 6 9 12 15 18 7.6 7.85 42 6.9 9.6 12.3 14.6 3 Nm 0.4 Nm
M7 X 1.0 F107 S107 7 10.5 14 175 21 8.65 8.9 53 8.2 11.1 14.3 17.4 4.5NmM | 0.6 Nm
M8 X 1.0 F408 5408 8 12 16 20 24 9.85 10.1 6.1 9.5 12.9 16.5 19.9
M8 X 1.25 F108 $108 8 12 16 20 24 9.85 10.1 4.7 7.4 10.6 185 16.4 6 Nm 0.8 Nm
M X 1.25 F109 S109 9 13.5 18 22.5 27 10.85 11.1 53 8.6 11.9 15.3 18.1
MIO X 1.0% 474 6.35 9.52 11.11 12.52 19.05 12.1 12.5 2.8 5.6 7.0 8.4 13.9
MIO X 1.25 F510 S510 10 15 20 25 30 12.1 12.5 6.0 9.7 13.1 16.9 20.1
MIO X 1.5 F110 S110 10 15 20 25 30 12.1 12.5 5.0 8.1 11.2 14.2 17.2 10.5Nm| 1.4 Nm
MITX1.5 FI11 S111 1 165 2 27.5 33 13.1 135 56 9.0 12.3 15.7 19.1
MI2 X 1.25% IN139 12.52 19.05 12.5 13.1 6.1 10.6
MI2 X 1.25 F512 S512 12 18 24 30 36 14.4 14.8 7.4 11.6 15.9 20.0 24.3
MI2 X 1.5 F412 S412 12 18 24 30 36 14.4 14.8 14.8 6.2 13.5 16.8 20.8
MI2 X 1.75 F112 S112 12 18 24 30 36 14.4 14.8 5.2 8.4 11.7 14.7 18.0 15.5Nm| 2.1 Nm
MI14 X 1.25% 512 9.52 11.11 12.52 15.88 19.05 17.2 17.7 &89 4.6 57 7.9 10.1
MI4X 1.5 FAl4 | S414 14 21 28 35 42 172 177 7.1 1.2 153 19.0 237
MI4X2.0 F114 S114 14 21 28 85 42 17.2 17.7 52 8.3 11.5 14.6 18.4 23.5Nm| 3Nm
MI6 X 1.5 F416 S416 16 24 32 40 48 19.4 19.9 8.3 13.0 17.7 22.4 27.6
MI16 X2.0 F116 S116 16 24 32 40 48 19.4 19.9 6.1 9.7 183 16.8 21.4 31.5NmM| 4.2 Nm
MI8 X 1.5% 514 12.52 15.88 22.2 228 4.6 6.5
MI8 X 1.5 F418 5418 18 27 36 45 54 21.5 20 9.5 14.9 20.2 258 31.4
MI8 X 2.0 F218 5$218 18 27 36 45 54 21.5 220 7.1 11.2 15.1 19.1 23.1
MI8 X 2.5 F118 $118 18 27 36 45 54 21.5 220 5.6 9.0 12.3 1585 19.1 42Nm | 5.5Nm
M20 X 1.5 F420 S420 20 30 40 50 60 23.7 24.2 10.7 16.7 22.4 29.9 35.0
M20 X 2.0 F220 $220 20 30 40 50 60 23.7 24.2 8.0 12.5 16.8 21.3 25.9
M20 X 2.5 F120 S120 20 30 40 50 60 23.7 24.2 6.3 10.0 13.7 17.7 21.5 54Nm | 7Nm
M22 X 1.5 F422 S$422 22 33 44 55 66 26.3 26.8 11.7 18.1 24.5 320 38.6
M22 X2.0 F222 §222 22 33 44 55 66 26.3 26.8 8.7 13.6 18.4 23.7 28.7
M22 X 2.5 F122 S122 22 88 44 55 66 26.3 26.8 6.9 10.9 15.0 19.6 23.8 67.5Nm| 9 Nm
M4 X 2.0 F224 S224 24 36 48 60 72 28.6 29.1 9.6 15.0 20.2 25.9 31.4
M24 X 3.0 F124 S124 24 36 48 28.6 29.1 6.2 10.0 14.0 17.7 21.5 80NmM | 10.5Nm
M27 X2.0 F227 S$227 27 40.5 54 67.5 32.2 32.7 10.9 17.1 22.6
M27 X 3.0 F127 S127 27 40.5 54 67.5 322 32.7 7.1 11.4 15.4 20.1 94Nm | 12Nm
M30 X2.0 F230 $230 30 45 60 75 35.2 35.7 12.3 19.0 25.5 32.8
M30 X 3.5 F130 S$130 30 45 60 75 90 35.2 35.7 7.0 11.0 14.9 19 23.1 108 Nm | 14 Nm
M33X2.0 F233 S$233 33 49.5 38.3 38.8 13.7 21.2
M33 X3.5 F133 S133 88} 49.5 66 38.3 38.8 7.8 12.2 16.5 122Nm | 155 Nm
M36 X2.0 F436 S436 36 54 72 42.1 42.6 14.1 21.9 31.1
M36 X 4.0 F136 S136 36 54 72 42.1 42.6 7.0 11.0 182 136 Nm | 17.5Nm
M39 X2.0 F639 S639 39 58.5 451 45.6 16.3 25.0
M39 X 4.0 F139 S139 39 58.5 78 451 45.6 7.7 12.2 16.6 150 Nm | 19.5Nm
*Spak PlugSizes
INSERT TYPE
ggg:m;:g MATERIAL QN Stinless Sted FINISH BLANK Nore
NPON  Nimonic 90 P Cadhrium Picte
T, F106 CN TN Inoord X750 P % Silver Plcte FI06QONP x 9
ORDER EN Nitronic 60 YA ZincPlde
GOSEROUST | BN Phosphor Brorze A B Dry FilmLuce M6 x1.0x1.5DFR P

Other Thread Sizes Avaldble on Request




N Cceanus BOLLHOFF

METRIC Tooling

HELIGOL® TAPS HELIGOL® GAUCES INSERTINGTOCOL TAG AUTOTANG
w Rauch Firish Batiam SPAue | SPPdnt BREAKOQF  BREAK OFF
g r
%
= Plcin Mcndrel Threcckd Monctl
M2x04 020040P | 0200408 | 200405 | 020040v | 0200405 | 0200406 HPSG | 01500102000 | 0158 0400000 | 0158 6020000
M22x0.45 004R | 022045 | oooodsB | 0220455 | 02045V | 0220455 | 0220456 Reouest Reouest HPSG Reqsst Reqsst Reouest
M25X0.45 025045 | 023045P | 025045 | 0250455 | 025045V | 0250455 | 0250456 HPMG | 0150025000 |  HPSG | 01500125000 | 0158040 1000 | 0158 6250000
MBX05 0B0050R | 030050P | 00080B | 0300505 | 0800SOV | 0300505 | 0300506 HPMG | 01500203000 | HPSG | 01500103000 | 0158040 1000 | 0158 6030000
MB5X06 0B5060R | 0B5060P | 0B5060B | 0350605 | 085040V | 0350605 | 0350606 HPMG | 0150028 5000 0158 040 2000 | 0158 6350000
MAX07 O40070R | 040070P | od0070B | 0400705 | o40070v | 0400705 | 0400706 HPMG | 01500204000 | HPSG | 01500104000 | 01580402000 | 0158 604 0000
MA5X075 45075 | 045075P | oas075B | 0450755 | o4s075v | o4s0755 | 0450756 Reopest Reguest Reusst Requsst Reqpsst Reouest
MEX08 050080R | 0s0080P | Oso080B | 000805 | 0s008OV | 0s00805 | 0500806 HPMG | 01500205000 |  HPSG | 01500105000 | 01580403000 | 0158 6050000
M6X10 060100R | 0s0100p | Os01008 | 001005 | osoI0OV | O0cOt005 | 0801006 HPM 01500406000 | HPSG | 01500106000 | 01580403000 | 0158 606 0000
M/ X10 o70100R | o7oio0p | o7oi00B | 0701008 | ooicov | 0701005 | 0701006 HPSG | 01500107000 | 0158040 4000 | 0158 607 0000
MBX10 0S0I00R | (080I00P | 0BOICOB | 0BDIOOS | 080100V | 0801005 | 0801006 HPSG | 01500108300 | 0158 040 4000 | 0158 408 0000
MBX125 080125k | 0B0125P | oe0i2sB | 0B0I2sS | 00125V | 0B0I2s5 | 0m0I256 HPM 01500408000 | HPSG | 01500108000 | 0158040 4000 | 0158 608 0000
M X125 00125k | oo0125P | oon2sB | o9oi2ss | ooi2sv | 090125 | 0901256 HPM | 01500409000 0158 040 4000 | 0158 609 0000
MIOX 1.0* 475 476 477 HPSG | 0150011 0300 | 0158 040 5000 | 0158 6100000
MIOX 125 100125k | 100125P | 10012%B | 100125 | 100125V | 1001255 | 1001256 HPSG | 0150011 0900 | 0158 0405000 | 0158 6100000
MIOX1.5 100150R | 100150P | 100150B | 1001505 | 100150v | 1001505 | 1001506 HPM | 0150041 0000 0158 0405000 | 0158 6100000
MITX15 110150 | 110150P | 1101508 | 1101505 | 110150V | 1101505 | 1101506 HPM | 0150041 1000 0158 040 5000 | 0158 6100000
MI2X1.25* ST534 ST535 ST536 HPSG | 0150011 2900 | USEPLIERS
MI2X1.25 120125 | 120125p | 120123 | 120125 | 120125 | 1201255 | 1201256 HPSG | 0150011 2900 | 0158 040 6000 | 0158 6120000
MI2X1.5 120158 | 120150p | 1201508 | 1201508 | 120150v | 1201505 | 1201506 HPSG | 0150011 2400 | 0158 040 6000 | 0158 6120000
MI2X175 12017%R | 120750 | 1207 | 27 | 120w7sv | 1201755 | 1201756 HPM | 0150041 2000 0158040 6000 | 0158 6120000
MI4X1.25° 525 51 845 HPSG | 01500114900 | USEPLIERS
MI4X15 140150 | 140150P | 140150B | 1401505 | 140150V | 1401505 | 1401506 HPSG | 0150011 4400| USEPLIERS
MI4X20 J40200R | 140200P | 140200B | 1402005 | 140200V | 1400005 | 1402006 HPM | 0150041 4000 USEPLIERS
MI6X1.5 140150 | 160150P | 160150B | 1601505 | 140150V | 1601505 | 1601506 HPMG | 01500216400 | HPSG | 01500116400 | USEPLIERS
MI6X20 140200R | 140200P | 160200B | 1602005 | 140200v | 1602005 | 1402006 HPM | 0150041 6000 USEPLIERS
MIBX 1.5* 52 52 846 HPSG | 01500118400| USEPLIERS
MIBX15 180150R | 180150p | 1801508 | 1801508 | 180150V | 1801505 | 1801506 HPSG | 01500118400 | USEPLIERS
MIBX20 180200k | 180200p | 180200 | 1802008 | 180200V | 1802005 | 1802006 HPSG | 01500118500 | USEPLIERS
MIBX2.5 180250R | 180250P | 180050 | 1802505 | 180250V | 1802505 | 1802506 HM 0150071 8000 USEPLIERS
MOX1.5 20150R | 200150P | 2001508 | 2001505 | 200150v | 2001505 | 2001506 HPSG | 01500120400 | USEPLIERS
MOX20 200200R | 200200 | 2002008 | 2002005 | 200200v | 2002005 | 2002006 HPSG | 01500120500 | USEPLIERS
MOX25 200250R | 200250 | 2002508 | 2002505 | 200250v | 2002505 | 2002506 HM | 01500720000 USEPLIERS
M2X1.5 2015R | 20150 | 201508 | 201505 | 20150v | 201505 | 2201506 HPSG | 01500122400 | USEPLIERS
M2X20 20000R | 20000P | 2002008 | 2202005 | 220000v | 2202005 | 2002006 HPSG | 01500122500 USEPLIERS
M22X25 2005R | 2050 | 200508 | 220505 | 220250v | 2200505 | 2200506 HM | 01500722000 USEPLIERS
M24X20 24000R | 240200P | 2402008 | 2402005 | 240000v | 2402005 | 2402006 HPSG | 01500124500 USEPLIERS
M24X30 240B00R | 240300P | 2400008 | 2408005 | 240800V | 2403005 | 2408006 HM | 01500724000 USEPLIERS
M7 X20 20000R | 270000 | 2700008 | 2700005 | 270200v | 2702005 | 2700006 HPSG | 01500127500 | USEPLIERS
M7 X30 270800R | 270300 | 2708008 | 2703005 | 270800v | 2703005 | 2708006 HM 01500727000 USE PLIERS
MBOX20 300200R | 300200 | 3002008 | 3002005 | 300200v | 3002005 | 3002006 HPSG | 01500130500 | USEPLIERS
MBOX35 00B50R | 300B50P | 3008508 | 3003505 | 300850V | 3003505 | 3008506 HM 01500730000 USEPLIERS
MB3X20 330200R | 330200 | 302008 | 3302005 | 330200v | 3302005 | 38002006 HPSG | 01500133500 | USEPLIERS
MB3X35 30B50R | 300B50P | 3008508 | 3303505 | 330850v | 3303505 | 3808506 HM 01500733000 USEPLIERS
MB6X20 360200R | 360200P | 360o008 | 3som00s | 3eoxoov | 3s0m005 | 3600006 HPSG | 01500134500 | USEPLIERS
MB6X 40 360400R | 360400P | 3604008 | 3604005 | 360400v | 3604005 | 3604006 HM | 01500736000 USEPLIERS
MB9X20 390200R | 390200P | 3902008 | 3902005 | 390200V | 3902005 | 3902006 HPSG | 01500139500 | USEPLIERS
MB9 X 40 390400R | 390400P | 390400B | 3904005 | 390400v | 3904005 | 3904006 HM 01500739000 USE PLIERS
*Spak PlugSizes

For Drilling & Tapping Data S ee Page 20




SN =OLHOFF Greanus g

U NC Insert Data

THREAD | FR | SL INSERT LENGTH FREE ODIA NQ FREE COLS P'?EC\QQLJEG
SIZE PART | PART
NUMBER | NUMBER | 1D | 15D | 2D | 25D | 3D | MN | MAX | 1D 150 | 2D | 25D | 3D | MAX | MN
1 2 3 4 5 6 7 8 9 10 1 12 13 14 15 16 1%
256 118502 | 358502 | 0086 | 0129 | 0172 | 0215 | 0258 | 0110 | 0119 | 3000 | 5250 | 7375 | 9625 | 1875 |Da@in [3ain
348 118508 | 338503 | 0099 | 0148 | 0198 | 0248 | 027 | 0128 | 01% | 2875 | 500 | 7250 | 93755 | 1150 |Rain |7@in
4-40 118504 | 358504 | 0112 0168 | 0224 0280 0.336 0.144 0159 2.750 4750 6750 8875 10875 |48ain | 10axin
540 118505 | 358505 | 0125 | 0188 | 0250 | 0312 | 0375 | 018 | 0173 | 320 | 550 | 7750 | 1000 | 12250 |75@in |13@n
632 118506 | 358506 | 0138 | 0207 | 0276 | 0345 | 0414 | 0178 | 0193 | 275 | 4750 | 685 | 885 | 1085 |élbin | 10Ibin
832 11852 | 3852 | 0164 | 0246 | 038 | 0410 | 042 | 0205 | 020 | 350 | 6000 | 8375 | 10750 | 13250 |9loin |15k
1024 1185-3 3585-3 0.190 0285 | 0380 0475 0570 0244 0259 2875 5000 7.125 9250 11.375 | 13lbin | 20lbin
1224 11851 | 3851 | 0216 | 0324 | 0432 | 050 | 0648 | 020 | 0285 | 350 | 6000 | 8375 | 10625 | 13125 |24Ibin | 30lbin
1420 11854 | 3854 | 025 | 0375 | 0500 | 0625 | 07 | 0310 | 030 | 335 | 5750 | 800 | 10375 | 12750 |30bin |45lbin
51618 11855 | 3855 | 0313 | 0469 | 0625 | 0781 | 0988 | 0380 | 0400 | 4000 | 6625 | 9250 | 11875 | 14625 |&0bin | 75lbin
3616 11856 | 3856 | 0375 | 053 | 0750 | 0938 | 1125 | 0452 | 0472 | 4375 | 7250 | 10000 | 1285 | 15750 |80lbin | 120lbin
70614 11857 | 3857 | 0438 | 0656 | 0875 | 1094 | 1313 | 0526 | 0551 | 430 | 7375 | 10250 | 13125 | 14125 [100Ibin | 165lbin
1213 11858 | 3858 | 0500 | 0750 | 1000 | 1250 | 1500 | 057 | 062 | 485 | 7875 | 11000 | 14125 | 17125 |1%0Ibin | 240loin
9612 11859 | 359 | 053 | 08#4 | 1125 1406 | 168 | 0669 | 0694 | 5125 | 8250 | 1150 | 14750 | 17875 |20Ibin | 300loin
5611 1185-10 | 3585-10 | 0.625 0938 | 1250 1.563 1.875 0.742 0.767 5250 8.500 11.750 15000 18375 | 300lbin | 400lbin
34410 118512 | 358512 | 0750 1125 | 1500 | 1875 | 2250 | 0881 0906 | 5875 | 9375 | 13000 | 16500 | 20125 |40Ibin | 600Ibin
789 118514 | 358514 | 0875 1313 | 1750 | 2188 | 2625 | 102 | 1052 | 6250 | 10000 | 13750 | 1750 | 21250 |é&0lin |820lbin
18 118516 | 358516 | 1000 1500 | 2000 | 250 | 3000 | 116 | 1.196 | 6375 | 10125 | 14000 | 17750 | 21625 |&Wloin | 1100lbin
1187 118518 | 358518 | 1125 168 | 2250 | 2813 | 3375 | 1315 | 135 | 6125 | 9875 | 13625 | 1750 | 21250 |90loin |1370lbin
1-1/47 118520 | 358520 | 1250 1875 | 250 | 3125 | 3750 | 1443 | 148 | 7000 | 11250 | 15375 | 1950 | 28750 | 1000Ibin | 1650kbin
1-38-6 1852 | 3852 | 1375 | 2063 | 2750 | 348 | 4125 | 158 | 1683 | 650 | 10500 | 14375 | 18375 | 22250 |1150ibin | 1850Ibin
1-172:6 118524 | 35524 | 1500 | 2250 | 3000 | 3750 | 4500 | 177 | 1772 | 7250 | 11500 | 15875 | 20125 | 2450 | 13%0lbin | 2100Ibin
UNF
reo | PR | st INSERT LENGH FREE QDA NQ FREE QOLS P RGE
SIZE PART | PART
NUMBER | NUMBER | 1D 15D 2D | 25D | 3D | MN | M | 1D 15D | 2D | 25D | 3D | MAX | MN
1 2 3 4 5 6 7 8 9 10 1 12 13 14 15 16 1%
2:64 19102 | 3591-02 | 0086 | 0129 | 0172 | 0215 | 0258 | 0110 | 0119 | 350 | 5875 | 8375 | 10750 | 13125 |D@in |3
356 119103 | 359108 | 00% | 0148 | 0198 | 0248 | 0297 | 013l 0146 | 3375 | 5625 | 800 | 10375 | 12625 |Rain |7
443 119104 | 3591:04 | 0112 | 0168 | 024 | 0280 | 036 | 0147 | 0162 | 335 | 5625 | 785 | 1020 | 1250 |48 |10an
544 119105 | 350105 | 0125 0188 | 0250 0312 0375 0163 0178 3563 5938 8313 10.750 13125
640 119106 | 39106 | 0138 | 0207 | 026 | 0345 | 0414 | 0173 | 0193 | 350 | 6000 | 8375 | 10750 | 13250 |éloin | 10kbin
836 1912 | 3912 | 0164 | 0246 | 038 | 0410 | 04%2 | 0204 | 0224 | 385 | 650 | 2125 | 11625 | 14250 |9bin | 15lbin
1032 11913 | 3%91-3 | 019 | 0285 | 0380 | 0475 | 050 | 0286 | 025% | 4125 | 6875 | 950 | 12250 | 14875 |13loin | 20koin
1428 1914 | 3914 | 025 | 0375 | 0500 | 0625 | 07 | 0306 | 0326 | 500 | 8250 | 11375 | 1450 | 17625 |30bin |35lbin
51624 1191-5 3591-5 0313 0469 | 0625 0781 0938 0380 0.400 5.500 8875 12.250 15.625 19000 | &lbin | 65lbin
3824 1916 | 3916 | 0375 | 0563 | 0750 | 098 | 1125 | 0448 | 0468 | 68&5 | 11000 | 1500 | 19125 | 23125 |80lbin |95lbin
71620 1917 | 3917 | 048 | 065% | 0875 | 1094 | 1313 | 0524 | 0549 | 6625 | 10625 | 14625 | 18500 | 2250 |100kin | 140lbin
1220 11918 | 3%1-8 | 050 | 0750 | 1000 | 1250 | 150 | 052 | 0617 | 7875 | 12375 | 16875 | 21375 | 25875 |150Ibin | 180loin
91618 1919 | 3919 | 053 | 084 | 1125 | 1406 | 1688 | 0666 | 0691 | 800 | 12500 | 17125 | 21750 | 2625 |200Ibin | 240loin
5618 1191-10 | 359110 | 0625 | 0988 | 1250 | 15683 | 1875 | 0738 | 075 | 9000 | 14125 | 19250 | 24250 | 29375 |300lbin | 320loin
3416 19112 | 3591-12 | 0750 1125 | 1500 | 1875 | 2250 | 0876 | 0901 | 9750 | 15125 | 20625 | 26000 | 31500 |40l | 500lbin
7614 1191-14 | 3591-14 | 0875 1313 | 1750 | 218 | 265 | 102 1051 | 985 | 1550 | 21125 | 26625 | 3225 |é0Ibin | 700lbin
1-12 1191-161 | 3591-161| 1.000 1500 | 2000 | 250 | 3000 | 1169 | 119 | 9625 | 15000 | 20500 | 26000 | 3150 |&0lin | 00lin
812 | n9is | 391418 | 1125 168 | 2250 | 2813 | 3375 | 1304 | 1334 | 11125 | 17250 | 28375 | 250 | 35750 |90loin | 1170lbin
412 | N9 | 3910 | 125 1875 | 2500 | 3125 | 3750 | 14% | 1460 | 1250 | 19375 | 26250 | 38000 | 39875 | 1000loin | 14301bin
13812 | N2 | 3912 | 1375 | 2083 | 2750 | 3438 | 4125 | 1575 | 1610 | 18750 | 21375 | 8875 | 3650 | 4000 | 1150ibin | 16501bin
1212 | 9124 | 359124 | 150 | 2250 | 3000 | 3750 | 450 | 1710 | 1745 | 15250 | 8500 | 31625 | 3875 | 48125 |13%0loin | 1900Ibin
INSERT TYPE
1185 UNCFR T
3585 UNCSL
AR MATERIAL QN Stdrless Sted FINSH  BLAK how
NPON Nmonic 90 P GoomiumPicte
TN Incond X750 V. Silver Plcte 1191-3A\P x .190
g(RD\[SVETQo 1191-3 CN EN' Nironic 60 7 ZincPide
CHOCSE FROMILIST BN Phosphar Brarwe W Dy FimLuce 10-32UNF x IDFR P




N Cceanus BOLLHOFF

UNC Unified Tooling
HELIGOL® TAPS HELIGOL® GAUGES INSERTINGTOOL TAG AUTOTANG

w Rah Firish Bim  SPFlde  SPPdrt BREAK P BREAK CFF

5 B - -

&

= Plcin Mendrel ThreadsdMend'd

doss 2B Qcss 3B Type Qde No. Type Qde No.
2.5 02RU 02cPB o8B 02CsB 144002 | 168302 HPSG Requst | 01580400000 | 0158 4020000
348 0BCRU 08CPB 03BB 03CSB 144003 | 168803 HPSG Reqpsst Reouest
400 04CRU 04CPB 04CBB 04CSB 144004 | 168304 HPSG | 01500165400 | 0158 040 1000 | 0158 6030000
540 05CRU 05CPB 05BB 05CSB 144005 | 168305 HPSG | 01500166600 | 0158 040 1000 | 0158 6030000
63 06CRU 06CPB 06CBB 06CSB 144006 | 168806 HPSG | 015001676400 | 0158 040 2000 | 0158 6030000
83 2RU 2PB 20BB 2C5B 1440-2 16882 HPSG | 01500168600 | 0158 040 2000 | 0158 6040000
1024 3RU 3B 3B 3CSB 14403 16883 HPSG | 01500169400 | 01580403000 | 0158 6040000
1224 1RU P8 1CBB 1B 14401 16831 HPM | 0150047 0600 01580403000 | 0158 4050000
1420 4RU 4CPB 4CBB 4CSB 1440-4 16884 HPM | 0150047 4600 01580403000 | 0158 606 0000
501618 5RU 5CPB 5CBB 5CSB 14405 16885 HPM | 0150047 6600 0158 040 5000 | 0158 607 0000
3816 6RU 6PB BB 6CSB 1440-6 1688-6 HPM | 0150047 7600 0158040 5000 | 0158 609 0000
701614 7RU 7CPB 7CBB 7GSB 14407 16887 HPM | 0150047 8600 0158 040 6000 | 0158 6100000
1213 8RU 8CPB 8CBB 8CSB 14408 16888 HPM | 0150047 9600 0158040 6000 | 0158 611 0000
91612 9RU 9cPB 9CBB 9CSB 14409 16889 HPM | 01500430600 USEPLIERS
5811 10RU 10PB 1088 10CSB 144010 | 168810 HM | 0150078 1000 USE PLIERS
3410 12RU 120PB 1288 12658 144012 | 168812 HM | 01500783000 USEPLIERS
789 14RU 14CPB 14CBB 14C3B 144014 | 168314 HM | 0150078 5000 USEPLIERS
18 16RU 160PB 16CBB 16CB 144016 | 168816 HM | 0150078 6000 USEPLIERS
1187 18RU 18CPB 18CBB 18CSB 144018 | 168318 HM | 01500787000 USE PLIERS
1147 20RU 200PB 20CBB 20CSB 14020 | 168820 HM | 01500788000 USE PLIERS
1386 2RU 2B 2CBB 2C3B 14402 | 16882 HM | 01500789000 USEPLIERS
1126 24CRU 24CPB 24CBB 24CSB 144024 | 168824 HM | 01500790000 USE PLIERS
UNF
HELIGOL® TAPS HELIGOL® GAUGES INSERTINGTOOL TAG AUTOTANG

w Rauch Firish Batiam SPAUe  SPPdnt BREAKOQF  BREAK CFF

E’ w:.l:::n:f

&

= Plcin Mendtel Threcded Mondrel

Qcss 2B Qcss 3B Type Qdar No. Type Qder No.

264 02FRU 00FPB 02FBB 00FS 02FSB 144102 | 169402 Requsst
356 0GFRU 03FPB 03FBB 03FS 03FSB 144108 | 169403 Requsst
) 04FRU 04FPB 04FBB O4FS O4FSB 144104 | 169404 HPSG | 01500165700 | 0158040 1000 | 0158 6030000
544 05FRU 05FPB 057BB 05FS 05FSB 144105 | 169405 Request
610 06FRU 06FPB 06FBB 06FS 06FSB 144106 | 169406 HPSG | 01500167700 | 0158 040 2000 | 0158 6030000
836 2FRU 2FPB 2FBB oS oFSB 14412 16942 HPSG | 01500168700 | 0158 040 2000 | 0158 6040000
1032 3FRU 3PB 3FBB £ 3FSB 14413 16943 HPSG | 01500169700 | 0158 040 3000 | 0158 6040000
1428 4RU 4PB 4FBB S 4B 1441-4 16944 HPSG | 0150017 4700 | 0158 0403000 | 0158 6060000
51624 5FRU 5FPB 5FBB 55 5FSB 14415 16945 HPSG | 0150017 6700 | 0158 040 4000 | 0158 6080000
3824 6RU 6FPB 6FBB &S 6B 14416 16946 HPSG | 0150017 7700 | 0158 040 4000 | 0158 609 0000
71620 7FRU 7FPB 7FBB 7S 7FSB 14417 16947 HPSG | 01500178700 | 0158040 5000 | 0158 6110000
1220 8FRU 8FPB 8FBB 8Fs 8FSB 14418 16948 HPSG | 01500179700 | 0158 040 000 | 0158 6120000
91618 9FRU 9FPB 9FBB 9FS 9FSB 14419 16949 HPMG | 01500280700 USEPLIERS | 0158 6140000
5818 10FRU 10FPB 10FBB 10FS 10FSB 144110 | 169410 HPMG | 0150028 1700 USEPLIERS | 0158 6160000
3416 12FRU 12FPB 12FBB 12K 12FSB 144112 | 169412 HPMG | 01500283700 USE PLIERS
7814 14RU 14FPB 14788 147 147SB 144114 | 169414 HPMG | 0150028 5700 USEPLIERS
1112 96FRU 96FPB 96FBB 96FBB 96FSB | 1441-161 | 1694161 HPMG | 0150028 6700 USEPLIERS
111812 187RU 187PB 18788 187BB 187SB 144118 | 169418 HPMG | 0150028 7700 USE PLIERS
11412 20FRU 20FPB 20FBB 20FBB 20FSB 144120 | 169420 HPMG | 01500288700 USEPLIERS
13812 2RU 2B 2BB 2FBB 2FSB 1442 | 16942 HPMG | 01500289700 USE PLIERS
11212 24FRU 24FPB 24BB 24FBB 24FSB 144124 | 169424 HPMG | 0150029 0700 USEPLIERS

For Drilling & Tapping Data S ee Page 20




SN =OLHOFF Greanus g

B S W Insert Data

THREAD | FR SL INSERT LENGH FREE ODA NQ FREE GOLS PREVARC
SIZE PART | PART
NUMBER | NUMBER | 1D 1.5D 2D 2.5D 3D MN MAX 1D 1.5D 2D 2.5D 3D MAX MN
1 2 3 4 5 6 % 8 9 10 1 12 13 14 15 16 17
1840 12552 | 24552 | 0125 | 0188 |020 | 0313 | 0375 | o157 | 0172 | 3250 | 550 | 775 | 10125 | 12375 - -
30624 12553 | 24553 | 018 | 0281 | 0375 | 0469 | 058 | 0240 | 0255 | 297 | 5002 | 7187 | 9312 | 1147 - -
1420 12554 | 24554 | 025 | 0375 | 050 | 0625 | 07 | 0314 | 030 | 347 | 5812 | 818 | 10625 | 1300 - -
51618 12555 | 24555 | 0313 | 0469 | 065 | 0781 | 098 | 0385 | 040 | 4062 | 675 9437 | 12002 | 1475 - -
3816 12556 | 24556 | 0375 | 0583 | 0750 | 0938 | 1125 | 045 | 0472 | 4375 | 7187 | 10062 | 12875 | 1575 - -
7N614 12557 | 24557 | 0438 | 0656 | 0875 | 1094 | 1313 | 052 | 052 | 4375 | 7375 | 10250 | 13125 | 16083 - -
1212 12558 | 24558 | 0500 | 075 | 1000 | 1250 | 150 | 0610 | 060 | 4312 | 7187 | 10000 | 13000 | 16687 - -
9N612 12559 | 24559 | 0563 | 084 | 1125 | 1406 | 1688 | 0675 | 0695 | 5062 | 825 | 11437 | 14687 | 17875 - -
5811 125510 | 245510 | 0625 | 09 | 120 | 153 | 1875 | o747 | o077 | 525 8562 | 11875 | 15125 | 18437 - -
171611 125511 | 245511 | 0638 1081 | 1375 | 1719 | 208 | o811 | o831 | 598 | 9503 | 13188 | 16750 | 20375 - -
3410 125512 | 245512 | 0750 1025 | 150 | 1875 | 2250 | 08% | 0906 | 5875 | 950 | 13062 | 16625 | 20250 - -
789 125514 | 245514 | 0875 1313 | 1750 | 2188 | 265 | 107 | 1052 | 625 | 1000 | 13750 | 17562 | 21312 - -
18 125516 | 245516 | 1000 | 150 | 2000 | 250 | 3000 | 172 | 1197 | 6375 | 10087 | 14000 | 17812 | 2175 - -
1187 125518 | 245518 | 1125 168 | 2290 | 2813 1.321 13% | 625 | 10000 | 13750 | 17.500 - -
1-1/47 125520 | 245520 | 1250 1875 | 250 | 3125 1449 | 1484 | 7025 | 1230 | 15375 | 19.625 - -
1126 125524 | 245524 | 1500 | 2250 | 3000 | 3750 173 | 1774 | 7250 | 132 | 15875 | 20187 - -
BSF
S I INSERT LENGH FREE QDIA NQ FREE QOLS PREVALING
SIZE PART | PART
NUMBER | NUMBER | 1D 1.5D 2D 2.5D 3D MN | MAX 1D 1.5D 2D 2.5D 3D MAX | MN
1 2 3 4 5 6 % 8 9 10 1 12 13 14 15 16 17
31632 12613 | 24613 | 018 | 0281 | 0375 | 0469 | 0583 | 0238 | 0253 | 4000 | 6687 | 9312 | 12000 | 1468 - -
703228 126135 | 246135 | 0219 | 038 |o48 | o547 | 066 | 027 | o | 418 | 6875 | 965 | 123755 | 15063 - -
1/426 1261-4 | 2461-4 | 0250 | 0375 | 050 | 0625 | 0750 | 0314 | 03® | 450 | 7437 | 10312 | 13250 | 16125 - -
903226 126145 | 246145 | 0281 042 | 053 | 073 | o84 | 038 | 030 | 520 | 852 | mew | 15125 | 18375 - -
51622 12615 | 2461-5 | 0313 | 0469 | 0625 | 0781 | 0938 | 038 | 0404 | 4875 | 8000 | 11062 | 14187 | 17312 - -
3820 12616 | 24616 | 0375 | 058 | 0750 | 098 | 1125 | 0492 | 0477 | 550 | 8875 | 1225 | 15625 | 19062 - -
70618 12617 | 24617 | 0438 | 0656 | 0875 | 1094 | 1313 | 056 | 055 | 5812 | 9375 | 12937 | 16500 | 20062 - -
1216 12618 | 24618 | 050 | 07 | 1000 | 1250 | 150 | 0611 | 0631 | 597 | 9562 | 13187 | 16812 | 20437 - -
9NE16 1269 | 24619 | 058 | osm | 1056 | 1406 | 168 | 0679 | 06w | 7625 | 10937 | 1500 | 19025 | 23188 - -
5614 126110 | 246110 | 0625 | 098 | 1250 | 153 | 1875 | 07% | 0776 | 6625 | 10625 | 14625 | 18562 | 22562 - -
111614 1261-11 | 246111 | 068 1031 | 1375 | 1719 | 2063 | 084 | 0844 | 748 | 11812 | 1618 | 0625 | 25000 - -
3412 126112 | 246112 | 0750 1025 | 150 | 1875 | 225 | 0905 | 0925 | 6875 | 100 | 15062 | 19087 | 2325 - -
1301612 126-13 | 246113 | 0813 1219 | 1625 | 2031 | 248 | 0972 | 092 | 7583 | 12000 | 16500 | 2098 | 25375 - -
7811 1261-14 | 246114 | 0875 1313 | 1750 | 2188 | 2625 | 1048 | 1073 | 74% | 1812 | 1620 | 0625 | 25000 - -
1-10 126116 | 246116 | 1.000 150 | 2000 | 250 1094 | 1219 | 7812 | 12375 | 16937 | 21.50 - -
1189 1261-18 | 2461-18 | 1056 1688 | 207) 2813 1341 136 | 7937 | 12562 | 17087 | 21812 - -
1-1/49 12610 | 246120 | 1250 1875 | 250 | 3125 1476 | 1501 | 8937 | 14125 | 19250 | 24437 - -
1-388 12612 | 246122 | 1375 | 208 | 2750 167 | 1657 | 868 | 13750 | 18625 - -
1128 126124 | 246124 | 1500 | 2250 | 3000 1762 | 1792 | 9625 | 15125 | 20625 - -
INSERT TYPE
1255 BSWFR T
2455  BSWSL
1261 BSFFR MAT ER| AL QN Stdnless Sted FINISH BLANK Nore
2461 BSFSL : .
NPON Nimonic 90 P CoohriumPlde
How 10 |V CN TN Incondl X750 7 V. Silver Plde 2455-4QNZ x .375
ORDER o EN Ntaricé0 I ERERce 1/4BSWx 1.5DSL ZP
B BN Phosghar Brorze — W Dy FilmLuce




N Oceanus SO LLHOF

BSW Tooling

HELIGAL® TAPS HELIGAL® CGAUGES INSERTINGTOCL TAG AUTOTANG

w Rah Firish Bim  SPFde  SPPdrt BREAKCFF  BREAK CFF

5 B - -

&

= vedum | aoe Pldn Madd TheadsdMande

Qcss Qs Type Qe No Type Qder No.

1640 2R 2P 208 W | wWaw2 HPSG | 0150017 1300 | 0158040 1000 | 0158 6030000
3624 3R 3nP 3nB W | wou3 HPSG | 01500172300 | 0158040 2000 | 0158 6040000
1420 AR 40P 408 AW | wows | waos HPM | 0150047 4300 0158040 3000 | 0158 6050000
51618 5AR 5P 508 5W | wovs | wass HPM | 0150047 6300 01580403000 | 0158 607 0000
3816 6AR WP 6WB ow | wows | wase HPM | 0150047 7300 0158 040 4000 | 0158 6080000
7N614 7WR WP 7WB wo | owowr | owasy HPM | 01500478300 0158040 4000 | 0158 609 0000
1212 8WR WP 818 8V | wovs | wass HPM | 0150047 9300 01580405000 | 0158 6110000
9612 IR WP W8 Wov | wase HPM | 01500480800 USE PLIERS
5611 10WR 10WP 10W8 WoVI0 | WGS10 HM  |0150078 1000 USE PLIERS
11611 1WR 11WP 118 WO | WERTT HM  |01500782000 USE PLIERS
3410 120R 120P 1208 Wov12 | Wasi2 HM | 01500783000 USE PLIERS
789 T4AR 140P 1408 WoMI4 | Was14 HM | 01500785000 USE PLIERS
18 160R 16WP 1608 WoM16 | WaS16 HM | 0150078 4000 USE PLIERS
1187 18WR 18WP 1818 wowis | wasis HM | 01500787000 USE PLIERS
1-1/47 20WR 20WP 2018 WOV | W3S HM  |o1500788000 USE PLIERS
1-12:6 24/R 24P 2418 Wov24 | Was24 HM | 0150079 Co00 USE PLIERS

BSF

HELIGOL® TAPS HELICOL® GAUGES INSERTINGTQCL TAG AUTOTANG

w Ragh Firish Bdion  SPAde  SPRdrt BREAKGF  BREAK OFF

>

Q w:.l:::n:f

oz

= % N T Pldn Monctel Threcded Mondrel

dass dass Type Qckr No. Type Qcer No.
4 5

31632 AR 3P 3B 3% XV XGW3 HPSG | 01500172500 | 0158040 2000 | 0158 604 0000
7/32-28 35R 35 35@ 356 35KV XOW35 HPSG | 01500173500 | 01580403000 | 0158 605 0000
1/426 AR 2P 4B 4 " XOwt4 HPM | 0150047 4500 0158040 3000 | 0158 606 0000
9/32-26 455R 45 4558 458 45%V XOw45 HPM | 0150047 5500 0158040 3000 | 0158 606 0000
51622 5R 5P 5B 56 5XV XOW5 X335 HPM | 0150047 6500 0158040 5000 | 0158 607 0000
3820 HR 6P 6B 6 XV XGOwt6 X336 HPM | 0150047 7500 0158040 5000 | 0158 609 0000
71618 7R 7XP 7B 7S 7YV XOW7 X337 HPM | 0150047 8500 0158040 6000 | 0158 6100000
12-16 R &P 8B 8% axv XOw8 X338 HPM | 0150047 9500 0158040 6000 | 0158 611 0000
91616 MR NP 9B 2 XV XO9 X359 HPM | 01500480500 USE PLIERS
5814 10 10X 1008 1066 10XV XGW10 X3310 HPM | 0150048 1500 USE PLIERS
111614 1R 1P 118 S 11XV XOW11 X331 HPM | 0150048 2500 USE PLIERS
3/4-12 12R 12¢@ 128 126 120V XOw12 X312 HPM | 01500483500 USE PLIERS
131612 13R 13 138 136 13%V XGW13 X3313 HPM | 0150048 4500 USE PLIERS
7811 14R 145P 1458 148 14%V XOwt14 X314 HPM | 0150048 5500 USE PLIERS
1-10 16R 16P 168 165 16XV XOW16 X3316 HPM | 0150048 6500 USE PLIERS
1-189 18R 18P 188 1858 18XV XOw18 X3318 HPM | 0150048 7500 USE PLIERS
1-1/49 200R 20%P 2008 2068 20XV X320 X3320 HPM | 01500488500 USE PLIERS
1-388 2R 26P 268 266 2%V XGW2 X322 HPM | 0150048 9500 USE PLIERS
1-12-8 28R 24xP 2458 2458 24XV XOw24 X3524 HPM | 0150049 0500 USE PLIERS

For Drilling & Tapping Data S ee Page 21




S SOLLHOFF Oceanus g

G (BS PF) Insert Data

THREAD PI;; Pi:liT INSERT LENGTH FREE QDA NQ FREE GOLS P'%’{&JPG
SIZE
NUMBER | NUMBER | 1D | 15D | 2D | 25D | 3D | MN | & | 1D | 15D | 2D | 25D | 3D | MAX | MN
1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17
1628 13252 - 0125 | 018 | 0250 | 0313 | 0375 | 0454 | 0474 | 1813 | 3438 | 5000 | 653 | 8125 - -
1/419 13254 = 0250 0375 0.500 0.625 075 0.619 0639 2875 5125 7313 9.438 11.625 - -
3819 13256 = 0375 0.563 0750 0938 1125 0768 0783 5188 8375 11.688 14875 18.125 - -
1/2-14 13258 = 0.500 0750 1.000 1250 1.500 0972 0992 5063 8250 11.438 14.688 17875 - -
58-14 1325-10 = 0.625 0938 1.250 1.563 1.875 1.055 1075 6688 10.688 14.688 18.688 2813 - -
3414 132512 - 070 | 1125 | 150 | 1875 1205 | 125 | 8313 | 13125 | 17938 | 270 - -
7814 1325-14 = 0875 1313 1.750 2625 1.365 1.385 9.875 15.500 21.125 32.500 - -
-1 132516 = 1.000 1.500 2000 1517 1.537 8750 13813 18875 - -
1-1/411 132520 = 1250 1.875 2.500 3750 1.885 1.905 11.313 17.625 23938 36688 - -
1-12-11 132524 ° 1.500 2250 3000 4.500 2136 2156 13813 21.438 2125 44313 - -
PREVAILING
THREAD IZE % INSERT LENGTH FREE QDA NQ FREE COLS TCRGUE
|ZE PART PART
S NUMBER | NUMBER | 1D 15D | 2D 25D | 3D MN | MAX 1D 1.5D | 2D 2.5D 3D | MAX' | MN
1 2 K 4 S 6 7 8 9 10 11 12 13 14 115 16 17
OBA 1331-0 26310 | 0236 0354 | 0472 0.5%0 0.708 0294 0309 4125 6813 9.500 12.188 14875 - -
1BA 1811 | 26311 | 0209 | 0313 | 0418 | 052 | 067 | 0261 | 0276 | 4000 | 6625 | 925 | 11875 | 1450 - -
2BA 1331-2 26312 | 0185 0277 | 0370 0462 0.555 0232 0247 3875 6438 9.000 11.563 14.125 - -
3BA 1331-3 2631-3 | 0.161 0241 032 0.402 0.483 0203 0218 375 6188 8.688 11125 13.625 - -
BA 1814 | 26314 | 0142 | 0213 | 0284 | 0355 | 046 | 0179 | 0194 | 353 | 598 | 8313 | 1070 | 13125 - -
SBA 1331-5 2631-5 | 0126 0187 | 0252 0315 0378 0.159 0.174 3.500 5875 8250 10.625 13000 - -
6BA 1331-6 2631-6 | 0.110 0165 | 0220 0275 0.330 0.140 0.155 3375 5.625 7875 10188 12438 . -
INSERT TYPE T
1325 G(BSPF) FR
1331 BAFR
2631 BASL MAT ERI AL QN Stdnless Sted FINISH BLANK Nore
NPON Nimonic 90 P CoohriumPlde
TN Inocrel X750 YASINERIE 1325-4QNx .375
AASARESE [ | 305-4 CN EN Niroric4o N/A 7 ZincPide :
OR DE R CHOCSE FROMLIST CGHOSE FRQWILIST . G] /4(BS PF) < ]5D FR
B BN Phesphar Brorze —— W Dry FilmLuce

Extraction Tooling

Removd todl featuring a predsion replocectle steel blade
suitdble for use with atap wrench, or power sarewdriver.

THREAD

s
g

NCOMINAL

UNC2-56 01806636000

01806040000 UNC3-48 01806646000

01804050000 UNC4-40 01806656000

01806060000 UNC6-32 01806676000

01804080000 UNC8-32 01806686000

MIO 01806100000 UNC10-32 01806697000
MI2 01806120000




- OCEANUS BOLLHOFF _

G (BS PF) Tooling

HELIGOL® TAPS HELIGOL® GAUGES INSERTINGTOCL TAG AUTOTANG
i Firish Battam SP Flute SP Pairt BF BREAK CFF
z B - -
&
= - Qe Plcin Moncte Threcckd Mot
1828 R PGW2 < HPSG | 0150017 1400 | 0158 609 0000
1/419 4R PG4 3 HPVG | 0150027 4400 USE PLIERS 3
3819 6R PG4 5 HPMG | 0150027 7400 USE PLIERS 5
1214 8PR PGS PGGS HPVG | 0150027 9400 USE PLIERS
5814 10PR PGWIO | PGZI0 HPMG | 0150028 1400 USE PLIERS -
3414 12PR PGWI2 | PGGI2 HPVG | 01500283400 USE PLIERS -
7B14 14PR PGWI4 | PGS14 HPVG | 0150028 5400 USE PLIERS 5
111 16PR PGWI6 | PGZ16 HPMG | 0150028 6400 USE PLIERS 5
11411 20PR PGW0 | PGS HPVG | 01500288400 USE PLIERS -
11211 24PR POW24 | PGS24 HPMG | 0150029 0400 USE PLIERS 5
BA
HELIGOL® TAPS HELIGOL® GAUGES INSERTINGTCCL TANG AUTOTANG
w Ragh Firish Bim  SPAde  SPPdrt BREAKGFF  BREAK GFF
>
Q mf
£
= Plcin Monctel Threockd Menarel

STD Nut Fit Tyre

OBA OBAR OBAP 0BAB OBAS (0:3% 0BAG HPM 0150 049 2200 0158040 3000 | 0158 6050000
1BA 1BAR 1BAP 1BAB 1BAS 1BV 1BAG HPSG 0150019 3200 | 0158 040 3000 | 0158 604 0000
2BA 2BAR 2BAP 28/ 2BAS 28V BAG HPSG 0150019 4200 | 0158 040 3000 | 0158 404 0000
3BA 3BAR 3BAP 3BAB 3BAS 3BV 3BAG HPSG 0150019 5200 | 0158 0402000 | 0158 403 0000
4BA 4BAR 4BAP 4B/B 4BAS 4BV 4BAG HPSG 0150019 6200 | 0158 040 2000 | 0158 403 0000
5BA SBAR 5BAP 5BAB 5BAS 5BV 5BAG HPSG 0150019 7200 | 0158 040 1000 | 0158 403 0000
6BA 6BAR éBAP 6BAB 6BAS 4BV 6BAG HPSG 0150019 8200 | 0158040 1000 | 0158 403 0000

For Drilling & Tapping Data S ee Page 21

Extraction Tooling

MECHAN CAL MECHAN CAL
WITH 1/4 HEX WITH 1/4 HEX

M2-MB5 | uNC3s10TO789
MEMIO 01803010000 UNF58-18TO7/8-14 01803080000
MIT-MI6 01803020000 UNCI-8TO1 187 01803040000
N2-MG 01805010000 UNF 1-14TO1 1812 01803040000
M-MI6 01805020000 UNCT 1/47TO1 1726 01803050000
UNC2-56 TO6-32 01803000000 UNF T 1/412TO1 1/2-12 01803050000
UNF 4-48TO640 01803000000 UNC2-56TO1224 01805010000
UNC8-32TO38-16 01803010000 UNF 4-48TO1/4-28 01805010000
UNF 836 TO3/8-24 01803010000 UNCT/420TOS56-11 01805020000
UNC7/16-14TO58-11 01808020000 UNF5/16-24TO5/8-18 01805020000
UNF7/1620TO9/16-1 01803020000




B SULLHOFF Oreanus g

Pneumatic Instdlation Tool Type P-PS G for
HELICOIL® oand HELICOIL® plus free running and s crewlock

Exchange unit

- L >

228

Pre-winder cartridge

unit Adaptor Motor

WEIGAT AR PRESSURE AR
kg bar CONSUMPTION
[Mn
M2.5 toMb 2540
UNC2-56 1o 10-24 2540
PPSG2%  \\ooasimae B 240 06 V00 204 Mandrel Assembly
UNF4-48 0 1/4-28 4050 comprising ins tallation
monarel ond dutch
M toM14
PPSG714  UNG1618101/2-13 42 360 1.4 4050 282

UNF5/16-24 10 1/2-20

P-PSG1626 M16 toM26 42 440 215 4.0-60 282

Pneumctic ins tdlation tool with reversing compressed ar motor and front end exchange unit.

The HELICOIL® ins tdlction depth is set by changing the compens ating discs.

This todl is recommended for medium to large volume production goplications.Tools for ins tdling HELICOIL® threcd inserts >
2.5 d are avdlddle on request. Tools P-PSG 714 and P-PS G 1626 cre fitted with asdfety sliding finger guard.

Pardlel Arm System Type S 600

I Quick & accurate positioning Compensating disc
cssortment

I Predse, verticd instdilation

I Ropid tool changeover

I 360° rotation

] Roller bearing & counter baance for light,
smooth movement

I S uitable for use with eectricd ond pneumatic
HELICOIL® instdlation tools

TYPE PRAUCT CHARACTERISTIC CRDER NO

Wakingradus 140 nm- 600mm

S 400 Warking height 50 nm- 430 mm 0182 080 0003
Wedht withauttod 8 kg

Mx. parnittedtacue 15 Nm

Ordering instructions :

When ordering a tool or components, plecs e state the type, size ond length of the HELICOIL®
thread insert to be used.

Parts listed suitable for nomind lengths up to 2d. Other lengths available on request.




BOLLHOFF

Complete tools, front end exchange units, wear and spare parts

MOR NOMINAL T WEAR AND SPARE PARTS
THREAD RN\G @ (D/\PLE[E FRONT END EXCHANGE PRE-WINDER COMPENSATING
D INCLEXGHANGE UNT] UNTS < 2D CRTRIDGE DISCASSCRTMVENT
M 1 2 3 5
METRIC
M2.5 X 0.45 0160 372 5000 0160 272 5050 0160 172 5032 719060029
M3 X0.5 0160 370 3000 0160 270 3050 0160 170 3032 719060001
O]F;';;%Qgg]o 0160 370 0040 M4 X0.7 0160 370 4000 0160 270 4050 0160 170 4032 719060002 0160 170 0060
M5 X0.8 0160 370 5000 0160 270 5050 0160 170 5032 719060003
M6 X 1.0 0160 370 6000 0160 270 6050 0160 170 6032 719060004
M X 1.0 0160 280 7000 0160 280 7050 0160 280 7032 719060005
M8 X1.25 0160 280 8000 0160 280 8050 0160 280 8032 719060006
MBX 1 0160 280 8300 0160 281 8350 0160 280 8332 719060007
MIOX 1.5 0160 281 0000 0160 281 0050 0160 281 0032 719060008
MIOX 1.25 0160 281 0900 0160 281 0950 0160 281 0932 719060009
MIOX 1 0160 281 0300 0160 281 0350 0160 281 0332 719060010
0]:?507(1310 0160 180 0040 MI2X 1.75 0160 281 2000 0160 281 2050 0160 281 2032 719060011 0160 280 0060
MI2X1.5 0160 281 2400 0160 281 2450 0160 281 2432 719060012
MI2X 1.25 0160 281 2900 0160 281 2950 0160 281 2932 719060013
MI2X 1 0160 281 2300 0160 281 2350 0160 281 2332 719060014
M14 X 2.0 0160 281 4000 0160 281 4050 0160 281 4032 719060015
MI4X15 0160 281 4400 0160 281 4450 0160 281 4432 719060016
MI4X1.25 0160 281 4900 0160 281 4950 0160 281 4932 719060017
M6 X 2.0 0160 191 6000 0160 191 6050 0160091 6032 719060018
MI6X 1.5 01601916400 0160191 6450 0160 191 6432 719060019
MIBX 1.5 01601918400 01601918450 0160 191 8432 719060020
P-PSG1626 0160 090 0040 M0 X 2.5 0160 192 0000 0160 192 0050 0160 192 0032 719060021 0160 0190 0060
01600900011 M0 X 1.5 0160 192 0400 0160 192 0450 0160 192 0432 719060022
M2X 15 01601922400 01601922450 0160 192 2432 719060023
M24 X 1.5% 01601924400 0160192 4450 0160 192 4432 719060024
M26 X 1.5% 01601926400 0160192 6450 0160 192 6432 719060025
UNC
2-56 0160 376 3603 0160 276 3650 0160 276 3632 719060050
440 0160 376 5603 0160 176 5650 0160 176 5632 719060051
5-40 0160 376 6603 0160 176 6650 0160 176 6632 719060052
P-PSG256 632 0160 376 7603 0160 176 7650 0160 176 7632 719060053
0160 370 0010 0160700040 8-32 0160 376 8603 0160 176 8650 0160 176 8632 719060054 01601700060
10-24 0160 376 9603 0160 176 9650 0160 176 9632 719060055
12:24 0160 377 0603 0160 177 0650 0160 177 0632 719060056
1/4-20 0160 377 4603 0160 177 4650 0160 177 4632 719060057
51618 0160 287 6603 0160 287 6650 0160 287 6632 719060058
P-PSG714 0160 150 0040 3816 0160 287 7603 0160 287 7650 0160 287 7632 719060059 0160 280 0060
0160 180 0010 7N6-14 0160 287 8603 0160 287 8650 0160 287 8632 719060060
12413 0160287 9603 0160 287 9650 0160 287 9632 719060061
UNF
4-48 0160 376 5703 0160 176 5750 0160 176 5732 719060030
6-40 0160376 7703 0160 176 7750 0160 176 7732 719060031
01’;;)2%2331 0 0160 370 0040 836 0160 376 8703 0160 176 8750 0160 176 8732 719060032 0160 170 0060
10-32 0160 376 9703 0160 176 9750 0160 276 9732 719060033
1/4-28 0160 377 4703 0160 177 4750 0160 177 4732 719060034
5/16'-24 0160 287 6703 0160 287 6750 0160 287 6732 719060035
PPSG714 3824 0160287 7703 0160 287 7750 0160 287 7732 719060036
0160 180 0040 ] 0160 280 0060
0160 180 0010 71620 0160 287 8703 0160 287 8750 0160 287 8732 719060037
1220 01602879703 0160 287 9750 0160 287 9732 719060038
ALLOY 90
P-PSG256 219095100 10-32 719001392 719031148 719061148 719041148 719080848
0160370 0010 1/4'-28 719001407 719031445 719061461 719041447 719081245
P-PSG1626 0160 190 0040 5/16-24 719001501 719031916 719060566 719041156 01602800060
0160090 0011 3/8-24 719001601 719031921 719060571 719041031 01602800060
Qn Recest QnRecpsst 12220 719001801 719031930 719060580 719041041 01602800060

OCEANUS ° HAI JU TRADING CO.LTD. - www.oceanus.com.tw



_ BOLLHOFF OCEANUS

HELICOIL® Electrica Instdlation Tool — Type E-PS G 256

The électricd instdlation tool type E-PS G for HELICOIL®
daossic, HELICOIL® plus and HELICOIL® tengfree threod
inserts hos to be equipped with a dimension-dependent
exchange unit.

The todl is especidly suited for the instdlation of HELICOIL®
inserts in medium ond large-s cde volume production during
spedific ins tdlation situations, for instonce in dean room
opplications or in the cerospace indus try.

Advontages Technicd data

I Rotation direction switches cutomatically when Length: 250 mm
the todl reaches the required instdiction depth Weight: 750 g

I Monud reverse override switch diso fitted Dimensions: M25-Mé

. - (M 8 ond M 10 on request)
I Brushless crive for deon room applications Moxirmunm s 1200 rotations per

I soft stat setting to gradudlly increcs e torque minute / infinitely varidole

I High flexibility ond compatibility, con use exis ting Order No*: 0160 470 0000
pneumatic pre-winder ond monarel

HELICOIL® clossic, HELICOIL® plus and HELICOIL® tongfree pre-winder exchange units

) Exchange unit Exchange unit Exchange unit
Exchonge unit HELIGAL® free running HELIGQAL® tongfree HELIGAL® tongfree

ondsaewock free running saewok

METRIC

M2.5 0160 272 5050 OnRequest hRequsst
M3 0160270 3050 5160 370 3050 5160370 3052
M4 0160 270 4050 5160 370 4050 5160 370 4052
M5 0160270 5050 5160 370 5050 5160 370 5052
Mé 0160 270 6050 5160 370 6050 5160370 6052
UNC

440 0160 176 5650 OnReqpest OnReqest
632 0160 176 7650 OnReqpest hReqsst
8-32 0160 176 8650 OnReqpest nReqest
10-24 0160 176 9650 OnReqpest Regsst
1/4-20 0160 177 4650 OnRequest nReqest
UNF

448 0160 176 5750 N/A N/A
640 0160 176 7750 N/A NA

836 0160 176 8750 N/A N/A
10-32 0160 176 9750 OnReqest hRequest
1/4-28 0160 177 4750 OnRequest hRequsst

* Plecs e remember to order the pre-winder exchange unit for the cppropriate size of insert.




SULLHOFF

Swap the front end adoptor of the E-PS G with the bell
housing adoptor to convert the E-PS G toal to the tool
type ES-410 to fadlitate the quick processing of
HELICOIL® plus ond HELICOIL® tongfree thread inserts.
Adjust the software setting of the control unit according
to the insert diameter ond length ond gain enhonced
speed of instdlation ond productivity.

Technical data

Length: 280 mm

Weight: 570 g

Dimensions:: M4-M10

Moximum speed: 1200 rotctions per minute / infinitely vericole

Tool Holder: Quiick-chonge chuck 1/4" hexagon socket
with radid becring for ins tdlation monarel

Order No*: Complete tool ES-410 - 4160 540 0000

Bell Housing only - 4160 540 0002

HELICOIL® plus and HELICOIL® tongfree installation mandrel

NOMINAL Mondrd Mondr e Moncrel Monarel
Installation mandrel THREADRANGE | HELIQOL® dus | HELIGOL® dus | HELIGOL® tongree | HELIGOL® tongfree
1% free running saewock free running saewock

METRIC
M4 4160 230 4020 4160 230 4022 5160 320 4020 OnRequsst
M5 4160 230 5020 4160230 5022 5160 330 5020 OnRecusst
Mé 4160 230 6020 4160 230 6022 5160 330 6020 OnReqsst
M7 4160 250 7020 4160 250 7022 N/A N/A
M8 4160 250 8020 4160 250 8022 5160 450 8000 OnRecusst
M9 4160 250 9020 4160 250 9022 N/A N/A
M10 4160 251 0020 4160251 0022 5160 451 0000 OnReqsst
UNC
440 4160 236 5620 4160 236 5620 N/A OnRecsst
5-40 4160 236 6620 4160236 6620 N/A QnReusst
632 4160 236 7620 4160 236 7620 N/A OnReqst
832 4160 236 8620 4160 236 8622 N/A QnReusst
10-24 4160 236 9620 4160 236 9620 NA QnRepsst
12:24 4160 237 0620 4160237 0620 N/A OnReqst
1/4"-20 4160 257 4620 4160 257 4620 NA QnRepsst
516-18 4160 257 6620 4160257 6620 N/A OnRegst
3816 4160 257 7620 4160257 7620 N/A ORegsst

* Plecs e remember to order the instdlation mandrel for the appropricte size of insert.




BN SOLLHOFF Creanus g

Tapped Hole Data

TAPPEDHCQLE TAPPED HOLE

METRIC FITTED UNC FITTED
ToBS 4377 DA ToBS 3409 DA

MeX04 | 210 | 218-209 | 282 | 230-226 | 231-226 | 157 256 23 | 00P4-0090 | 010%2  |00996-00976] 00989-00976 | 00467
M2X045 | 230 | 240-230 | 279 | 253-249 | 256-249 | 171 348 27MM | 0108-0104 | 01261 |01147-01125] 01139-01125 | 00764
M25X045 | 260 | 270-260 | 309 | 283-279 | 285-27% | 201 440 M [012-0118 | 0145 [01307-01282| 01298-01282 | 0084
MBX05 310 | 32-31 | 365 | 3aw-3m | 31-3m | 24 540 3AMM | 0135-0131 | 01575 |0147-01412| 01429-01412 | 00979
MB.5X0.6 3.40 3.75-363 428 394-389 396-389 285 632 37Mv | 0.150-0.145 0.1786 0.1611-0.1583| 0.1601-0.1583 |  0.1042
MAX07 20 T2z | 201 BN 2544 | a2 8% N6t |0175-0171 | 02046  |01672-01843| 0182-0186 | 01302
wisxorns | 2o a0 DR 0o | oo 1024 | 5IMM | 0205-0199 | 02441 |02204-02171|02198-02171 | 01449
VEXO0B o Tsmar | et | smsm| 505 | 23 1224 | 58M |020-025 | 0201 |02465-02431 | 02454-0281 | 01709
VeX10 o Teanen T 7% Temes | ones | am 40| 67MA | 020-0261 | 03150 |02863-02825| 02851-02825 | 01959
MX10 70 | 7472 | 80 | 772-765 | 774-765 | s SN618 | 83wM | 034-0325 | 03847  |035-03486| 0361503486 | 02524
BX10 n Tenaml o0 Temse s em 3816 | 99w |038-03 | 0452 |04203-041%| 0418904156 | 03073

7Né14 /64 | 0.463-0453 0.5308 0.4890- 04839 | 04875-0.4839 | 0.3602
1213 B4 | 0527-0517 0.5999 0.5554-0.5499 | 0.5537-0.5499 | 04167
9N6-12 1475MM| 0.591-0.581 0.6708 0.6225-0.6167 | 06208-06167 | 04723

M8 X125 830 848-827 9.62 8.87-881 891-881 665
M X125 9.30 9.48-9.27 10.62 9.87-9.81 991-981 7.65
MIOX1.0* | 1030 10.37-10.26 11.20 10.71-1065| 886

i Tom Tosom 1aTomos Tos-ios | e SB11 | 165WM | 0656-0645 | 07431 |06908-06841 | 0.6885-06841 | 05266
310 | 197wva|0783-0772 | 087 |08216-08149 | 08196-08149 | 06417
MOX15 | 1030 |1056-1038| 1195 | 11.06-1097| 1109-1097| 838 59 o Toonomr | 1o loos-com losmaoom | orer
MIX15 | 130 1156133 | 1295 | 1206-1197 | 1209-1197| 938 s @ Tomw | i Teomaheemal osr
MI2X1.25% | 1230 Rl e RN 1064 B7 | 1582 | 1070-11% | 13106 |12062-12178| 12239-12178 | 09704
MI2X125 | 1230 | 1248-1227| 1362 | 1290-1281] 1293- 1281 | 1045 a7 vom Tiosam | s |issia 1308| 1360- 1308 | 10754
M2X15 | 1250 |1232-1256| 1395 | 1307-1297| 1310-1297 25 [ Teaa | mn les iR o
M2X175 | 1240 |1264-1238| 1427 | 1324-1314] 1327-1314] 101 zs | e Dissise b e e o RRREEE =
M4X125% | 1430 | 1440-1428| 1557 1504- 1497 | 12.65
M4X15 | 1430 |1456-1433| 1595 | 1507-1497| 1510-1497 | 1238 TAPPED HOLE
MI4X20 | 1450 |1473-1443| 1660 | 1541-1530 1544-1530| 1184 UNF FITTED
MIEX15 | 1625 |1656-1633| 1795 | 1707-1697| 17.10- 1697 | 1438 MNCR
ToBS 3409 MNCR | MAJCR | AASS 2B | A.ASS 3B | DA

MI6X20 | 1650 |1673-1643| 1860 | 17.41-17.30 17.44-17.30 | 1384 DA Wk MN | K N

MIBX15% | 2382 |1836-1824| 2014 19.15- 1906 | 1605
MIBX15 | 1825 |1856-1833| 19.95 19.07-1897| 19.10- 1897 | 1638
MI8BX20 | 1850 |1873-1843| 2040 19.41-19.30| 19.44-19.30 | 1584 26 23w 10093-0000 | 01083 l00o80-00962| 0097400962 | 00601
MIBX25 | 1850 |1890-1854| 2125 | 1974-19.62| 1978-19.62| 1529 356 265MM | 0106-0108 | 0122 |0.1126-01106| 0.1119-0.1106 | 00797
MOX15 | 2025 |2056-2033| 2195 21.07-2097| 21.10-2097 | 1838 448 3| 0120-0117 | 01391 |01278-0.1255| 0.1270-0.1255 |  0.089%4
MOX20 | 2050 |2073-2043| 2260 | 2141-2130] 21.44-21.30 | 1784 544 33vM | 0134-0130 | 01545 |01422-0.1398| 0.1414-01398 | 01004
MOX25 | 2050 |2090-2054| 2325 | 2174-21.62| 2178-2162 | 179 640 37MM | 0148-0144 | 01705 |01568-0.1542| 0.1559-0.1542 | 0.1109
M2X15 | 250 |256-233| 2895 | 2307-2297| 2310-2297 | 2038 836 164 | 0174-0170 | 02001  |0.1848-0.1820| 0.1839-0.1820 | 0.1339
M22X20 2.5 N73-043 24.60 2341-2330| 23.44-2330 | 1984 10:32 51Mv | 0201-0.197 02306 02133-02103| 02123-02103 |  0.1562
M2 X25 »50 | 290-2254 2525 RT74-2362| 2B378-2362 | 1929 1/428 66MM | 0264-0258 0.2964 0.2765-02732| 02754-02732 | 02113
MAX20 | 2495 |oa73-0443| 2660 | 2541-2530| 2545-2520 | 2184 51624 | 82avM | 0328-032 | 03666 |03433-03395| 03421-03395 | 02674
M4X30 | 2475 |2505-2465| 2790 | 2609-2595| 26.14-2595 | 2075 3824 | 9AMM | 030-0384 ) 0471  [0405-0400)04047-0400| 032%
oo |75 iR 760 | 24 | 0456-0449 | 05025  |0474-04700| 0.4731-04700 | 03834
vorxao |75 |mmzal 2090 | 20m-2%| 14-295 | 275 12-20 364 | 0518-0511 | 05650  |05371-0.5325| 0535705325 | 0.4459
vwox2o 120 |osmsl 2o 91618 b4 | 0582-0575 | 06347 |0.4035-0.5986 | 0.4020-05986 | 0.5024

5818 At | 0644-0637 | 06972 |0.6661-06611|0.6646-06611 | 05649
MBOX35 | 3050 |[3121-3076| 3455 | 3243-3227| 3247-3227 | 2621

3416 Q4| 0771-0764 | 08312 |07961-07906| 07945-07906 | 06823
MEB3X20 | 3350 |3343-3378| 3540

7814 275MM| 089-0891 | 09678 [09274-09214| 09257-09214 | 07977
MB3X35 | 3350 |3421-3376| 3755 | 3543-3527| 3547-3527 | 2921 o o oo T e ool i1 | osors
MEX20 | 630 IS B2 | 925wM| 118-1148 | 28 |1180- 11792 1e41- 11792 | 10848
MBSX40 | 3650 |3/34-3687| 410 | 3876-386D| 3881-3860 | 31.¢7 412 | 174 | 1278-1268 | 13583 |13112-1.3042| 1309213042 | 11598
MYX20 | 39.50 |3943-3973| 41.60 13812 | 355MM | 1408-1393 | 14833 |1.4364- 14292 14343- 14292 | 1288
M39 X4.0 39.50 40.34-3987 4420 4176-41.60| 4181-41.40 | 3467 1-12-12 3B5MM | 1.528-1.518 1.4083 1.5615- 1.5542 | 1.5595- 1.5542 1.4098

*Spak PlugSizes
[ Reconmenasdifar sarewlock Irsert qopiadions.

20




m OCEANUS

B LLHOFF

Tapped Hole Data

TAPPED HOLE TAPPED HOLE
FITTED FITTED
MNCR MNCR
DA DA
1840 33MM | 0135-0129 | 0158  |01430-01410 a 00920 3N63 49MM | 0198-0192 | 02247 |02098-02075 0.1475
31624 SMM | 022-019 | 02365 |02166-02142 2 01341 7R2-8 58MM | 0231-025 | 02612 |02442-02416 A 01730
140 67MM | 0267-0261 | 03087 |02849-02820 95 01860 1426 66MM | 0264-0257 | 02957  |02774-02747 o 02008
51618 2164 |0334-038 | 03777 03512-03480 & 02413 93226 74MM | 0295-0288 | 03270  |03083-03059 95 02320
3816 25064 | 0398-030 | 04483  |04185-04150| 04170-04150 | 02950 5162 83MM | 03%0-0323 | 03662  |03447-03416 & 02543
7Né14 Wfph | 0463-0453 | 05212 |04871-04833| 0.4855-04833 | 03461 3820 98MM | 0392-0385 | 04340  |04104-04070 03110
1212 Bk |0525-0515 | 05973 |05675-0.5533] 0555705533 | 0.3932 71618 Wfph | 0458-0450 | 05080  |04767-04730| 04751-04730 | 03663
9612 k4 | 0588-0578 | 06600  |06201-06158] 06184-06158 | 04557 1216 Bk4 | 052-0513 | 05736 |05440-05400| 05423-05400 |  0.4200
5811 2182 | 0663-0653 | 07312 |06873-04832| 06859-06832 | 0508 9NE16 ks | 0586-0577 | 06362 |06067-06025 0604906025 | 04825
11611 B |0727-0717 | 0798 |07505-07457 | 07485-07457 | 05711 5814 4164 | 0649-0640 | 07091 0675206708 0.6734-06708 | 0.53%
3410 258 |0791-0781 | 08669  |08191-08141| 08171-08141 | 0.6220 11614 | 4564 | 0713-0708 | 07717  |07379-07333| 0730-07383 |  0.5961
7689 982 |0916-0906 | 10048 |09516-09462| 09495-09462 | 07328 3412 Hp4 | 0775-0765 | 08478 |08082-0:8033| 0:8062-08033 | 0.6432
1-8 1132 | 1044-1081 | 11457 |10859-10801| 1.0836-1.0801 | 08400 131612 | 5364 | 088-088 | 09104 |08708-08638| 0:888-08658 | 07057
1187 114 | 1186-1171 | 1912 |12227-12165 12208-12165 | 09420 7B 5764 | 0900-0890 | 09817 |09384-09332| 09364-09332 | 07586
1147 1194 | 13111296 | 14163 |13479-1.3415| 1.3454- 13415 | 10670 1-10 1182 | 1044-1081 | 11173 |1.0697- 10641 | 1.0675-10641 | 08720
1-1/2-6 1-35/64 | 1.571-1.546 1.6936 1.6137- 1.6067 | 1.6110-1.6067 |  1.2866 1-189 1-532 1.170- 1.156 1.2551 1.2021-1.1962| 1.1998-1.1962 | 09828
1-1/49 193 | 1295-1281 | 13808 |13274-13212| 1.3250-1.3212 | 1.1078
1-38-8 1-13/32 | 1.420- 1.406 1.5212 1.4616- 1.4551 | 1.4591 - 1.4551 12150
TAPPEDHALE 1128 11782 | 1545-1531 | 16464 | 1.5868-1.5801 | 1.5843- 15801 |  1.3400
FITTED
MNCR
MNCR | MAICR MED aAGE DA
DA DA anAss anass TAPPED HQLE
FITTED
@ MNCR
MNR | MAIR STANDARD DA
1828 2564 | 0400-0390 | 04258 04090-0.4058 03372 DA DA NUT FIT
1419 1732 | 0540-050 | 05808 055%-05517 04506 MAX- MN
3819 Bt | 060-0670 | 07184  |06937-06897 2 0.5886
17214 27732 | 0850-0840 | 09092  |08/54-08708 ~ 07336 0BA 62MA | 0246-0241 | 02805 0.2645-0.2598 0.18%0
58-14 59/64 0927-0915 09863 0.9524-09478| 09506-09478 | 08106 1BA 55MM | 022-0213 0.2485 0.2342- 02299 0.1661
3/414 1-1/6 1.066-1.053 11255 1.0918-1.0868| 1.0898-1.0868 | 09496 2BA 49MM | 0.196-0.191 02208 0.2079 - 02042 0.1468
714 11364 | 1213-1200 | 12735 | 1.8399-12348| 1.2378- 12348 | 10976 3BA 43WM | 0171-0166 | 01938 0.1821-0.1786 01268
111 12164 | 1335-1320 | 14158 |13727-13673| 1.3705-13673 | 1.1926 4BA 38WM [ 0152-0147 | 01711 0.1605-0.1574 0.1106
411 143064 | 1680-1665 | 17571 |17141-17083) 17118-17083 | 15336 5BA 33MM | 0135-0129 | 0152 0.1426- 01399 00980
1121 1982 | 1921-1906 | 19893 |1.9464- 19408 1944019408 | 17656 BA 29WM [ 0116-0113 | 01339 0.1252-0.1226 00850
[ Recommencedfar saenlock Insert qodiadions.
TAPPED HOLE INSERT (FITTED)
Drilling and tqpding Helicgil® when fittedwill rfinic LE
procedares shoud thedass o fit of the togpedde MNR DA
fdlow goodwarkshop [tis impartont that the dass of fit I i
padicea dl times. g is checked with on Hdlicdl® gouge / R
Itis rost impertant to \/ befareinsertion
achereto thelimits For maximum perfamoncs,
gven fa the drilled ond e Tang shoudberemoved
toppedhde to ahieve 4"“““ o parmit full lengh threcd
thedcss o fit required ﬁ& /' engoEant betweeninset and = Z
! kdt. Insaenock godicdians

Mnimum dillingond
tgodng agoths ae

ths ersures ful famthrecd

gvenin the tedles. engogament with thelocking fedure




B SULLHOFF

METRIC

OCEANUS -

Drilling & Topping Depths

i D D D D
Q R S T Q R S T Q R S T Q R S T S T
M2X04 | 200 | 160 | 380 | 340 | 300 | 260 | 480 | 440 | 400 | 360 | 580 | 540 | 500 | 460 | 680 | 640 |600 | 560 | 7.80 |7.40
M22X045| 220 | 175 | 423 | 378 | 330 | 285 | 533 | 48 | 440 | 395 | 643 | 598 | 550 | 505 | 753 | 708 |660 | 615 | 863 |818
M2.5X0.45| 250 | 205 | 453 | 408 | 375 | 330 | 578 | 533 | 500 | 455 | 703 | 658 | 625 | 580 | 828 | 783 |[750 | 705 | 9.53 |9.08
MBX05 | 300 | 250 | 525 | 475 | 450 | 400 | 675 | 625 | 600 | 550 | 825 | 775 | 750 | 700 | 975 | 925 |9.00 | 850 | 1125|1075
M35X06 | 350 | 290 | 620 | 560 | 525 | 465 | 795 | 735 | 700 | 640 | 970 | 9.10 | 875 | 815 | 11.45| 1085 1050 | 990 | 1320 | 12.60
M4 X0.7 4.00 3.30 7.15 6.45 600 | 530 92.15 8.45 800 | 7.30 11.15| 1045, 10.00| 9.30 13.15| 1245 | 1200 | 11.30 | 15.15 | 14.45
ME5X075| 450 | 375 | 788 | 713 | 675 | 600 | 1013 | 938 | 9.00 | 825 | 1238 | 11.63| 11.25| 1050 | 14.63| 13.88 | 13.50 | 1275 | 16.88 | 16.13
M5X08 | 500 | 420 | 860 | 780 | 7.50 | 670 |11.10 | 1030 | 1000 | 9.20 | 1360 1280| 1250 11.70 | 16.10| 1530 | 1500 | 1420 | 18.60 | 17.80
M6X10 | 600 | 500 |1050 | 950 | 9.00 | 800 | 13.50 | 1250 | 1200 | 11.00| 1650 | 1550 1500| 1400 | 19.50| 1850 | 1800 | 17.00 | 22.50 | 21.50
M X10 | 700 | 600 |11.50 |1050 | 1050 | 9.50 | 1500 | 1400 | 1400 | 1300 1850 | 17.50| 17.50| 1650 | 22.00| 21.00 | 21.00 | 2000 | 25.50 | 24.50
MBX10 | 800 | 700 |1250 |11.50 | 1200 |[11.00 | 16.50 | 1550 | 1600 | 1500 20.50 | 19.50| 20.00| 19.00 | 24.50| 23.50 | 24.00 | 23.00 | 28.50 | 27.50
MBX125 | 800 | 675 |13.63 [1238 [1200 [1075 |17.63 | 1638 | 1600 | 1475| 21.63| 2038| 20.00| 1875 | 25.63| 2438 | 2400 | 2275 | 29.63 | 28.38
MX125 | 900 | 775 | 1463 1338 | 1350 |1225 | 19.13 | 17.88 | 1800 | 1675 23.63 | 22.38| 22.50| 21.25 | 28.13| 26.88 | 27.00 | 25.75 | 32.63 | 31.38
MIOX1.25 1000 | 875 |1563 |1438 | 1500 |1375 | 20.63 | 19.38 | 2000 | 1875 | 25.63| 2438| 2500| 2375 | 30.63| 29.38 | 30.00 | 28.75 | 35.63 | 34.38
MIOX1.5 1000 | 850 |1675 |1525 | 1500 |13.50 | 21.75 | 2025 | 2000 | 18.50 | 26.75| 2525 2500| 23.50 | 31.75| 30.25 | 30.00 | 28.50 | 36.75 | 35.25
MITX15 1100 | 950 [17.75 (1625 [16.50 |1500 | 2325 | 2175 | 2200 | 2050 | 28.75| 27.25| 27.50| 26.00 | 34.25| 32.75 | 3300 | 31.50 | 39.75 | 38.25
MI2X125 1200 |1075 |17.63 |1638 | 1800 |1675 | 23.63 | 2238 | 2400 | 2275| 29.63| 27.38| 30.00| 28.75 | 35.63| 34.38 | 36.00 | 3475 | 41.63 | 40.38
MI2X175 1200 |1025 |19.88 |1813 | 1800 |1625 | 2588 | 24.13 | 2400 | 2225 31.88| 30.13| 30.00| 2825 | 37.88| 36.13 | 36.00 | 3425 | 4388 | 42.13
MI4X1.5 |1400 | 1250 [2075 [19.25 |21.00 [19.50 | 27.75 | 2625 | 2800 | 26.50 | 3475| 3325| 3500| 33.50 | 41.75| 40.25 | 4200 | 40.50 | 4875 | 47.25
MI4X20 |1400 |1200 2300 [21.00 [21.00 [1900 |30.00 | 28.00 | 2800 | 26.00| 37.00| 3500| 3500 33.00 | 4400 42.00 | 4200 | 40.00 | 51.00 | 49.00
MI6X15 (1600 |1450 |2275 |21.25 | 2400 |2250 | 3075 | 29.25 | 3200 | 30.50 | 38.75| 37.25| 40.00| 38.50 | 46.75| 4525 | 48.00 | 46.50 | 54.75 | 5325
MI6X20 (1600 |1400 |2500 |2300 |2400 |2200 |33.00 | 31.00 | 3200 | 30.00| 41.00| 39.00| 40.00| 3800 | 49.00| 47.00 | 48.00 | 46.00 | 57.00 | 55.00
MIBX1.5 1800 [1650 |2475 |2325 |27.00 |2550 | 3375 | 32.25 | 3600 | 34.50 | 42.75| 41.25 4500| 4350 | 51.75| 50.25 | 5400 | 52.50 | 60.75 | 59.25
MI8X20 |1800 |1600 [27.00 |2500 |27.00 |2500 |36.00 | 3400 | 36.00 | 3400 | 4500 | 4300| 4500 43.00 | 5400 5200 | 5400 | 52.00 | 63.00 | 61.00
MIBX25 1800 |1550 |29.25 |26.75 |27.00 |24.50 | 3825 | 3575 | 3600 | 33.50 | 47.25| 4475 4500| 42.50 | 56.25| 5375 | 5400 | 5150 | 65.25 | 62.75
MOX15 2000 |1850 |2675 |2525 |30.00 |28.50 | 3675 | 35.25 | 4000 | 3850 | 46.75| 4525 50.00| 48.50 | 56.75| 5525 | 60.00 | 5850 | 66.75 | 6525
MO X20 2000 [1800 |29.00 |27.00 |30.00 |2800 | 39.00 | 37.00 | 4000 | 3800 | 49.00| 47.00| 50.00| 4800 | 59.00| 57.00 | 60.00 | 58.00 | 69.00 | 67.00
M0 X25 (2000 |17.50 |31.25 |2875 |30.00 |27.50 | 4125 | 3875 | 40.00 | 37.50| 51.25| 4875| 50.00| 47.50 | 61.25| 58.75 | 60.00 | 57.50 | 71.25 | 68.75
M2X15 (2200 |2050 |28.75 |27.25 |33.00 |31.50 | 39.75 | 38.25 | 4400 | 4250 | 50.75| 4925 5500| 5350 | 61.75| 60.25 | 66.00 | 6450 | 72.75 | 71.25
M22X20 2200 |2000 |31.00 |2900 |33.00 |31.00 | 4200 | 4000 | 4400 | 4200 5300 | 51.00 5500| 5300 | 6400| 6200 | 66.00 | 6400 | 7500 | 73.00
M22X25 2200 [19.50 (3325 |30.75 |33.00 |30.50 | 44.25 | 41.75 | 4400 | 41.50 | 5525 | 52.75| 55.00| 5250 | 66.25| 63.75 | 66.00 | 63.50 | 77.25 | 74.75
M24X20 |2400 |2200 [3300 |31.00 [36.00 |3400 | 4500 | 43.00 | 4800 | 4600 | 57.00| 5500| 60.00| 5800 | 69.00| 67.00 | 72.00 | 70.00 | 81.00 | 79.00
M24X30 2400 [21.00 |37.50 |34.50 |36.00 |3300 | 49.50 | 4650 | 48.00 | 4500 61.50 | 5850| 60.00| 57.00| 73.50| 70.50 | 72.00 | 69.00 | 85.50 | 82.50
M7 X30 2700 |2400 |4050 |37.50 | 4050 |37.50 | 5400 | 51.00 | 5400 | 51.00| 67.50 | 64.50| 67.50| 64.50 | 81.00| 78.00 | 81.00 | 78.00 | 94.50 | 91.50
MBOX35 3000 [26.50 |4575 |4225 |4500 |41.50 | 6075 | 57.25 | 60.00 | 56.50 | 75.75| 72.25| 7500| 71.50 | 90.75| 87.25 | 90.00 | 86.50 | 105.75| 102.25
MB3X3.5 (3300 |29.50 [4875 (4525 |49.50 (4600 | 6525 | 6175 | 6600 | 6250 | 81.75| 78.25| 8250 79.00 | 9825 9475 | 99.00 | 95.50 | 114.75 111.25
M36X40 3600 [3200 |5400 |5000 |5400 |50.00 | 72.00 | 6800 | 7200 | 6800 90.00| 86.00| 90.00| 8600 | 10800 104.00| 108.00| 104.00 126.00| 122.00
MB9X40 |39.00 |3500 |57.00 |5300 |5850 |54.50 | 7650 | 7250 | 7800 | 7400| 9600 | 9200| 97.50| 9350 | 11550 11150 117.00 113.00| 13500 131.00
INSTALL INSERT Q- Full topped threcdlengh (rrin.)
é{g‘?’_o}vﬂs BlRTF(?A-l(I - R - Enteingportion of saew (max.). If Tangis not removed
§ S - Dill dgath (rin.) - exdudng pdnt.
// ; T - Topdgath (mrin.) - indudng 3 1/2 threads chanrfer of dugtop
% 1. Figres intdde aefa min. agath hdes. When posside aod 1
1Y piantoQ S ondT. .
TANG Insert anthenbeirstdled 1/4 - 1/2 dtch bdow suface
REMOVED 2. Degrs of Cloores o Cisks. If any, must e added to vdues
MNMJIM fa QR, S adT.
THRQUGH HQLE

MNMUMBLIND HQLE

3. If ottoringtos aewed S ondT noy beredasd by an
amount ecud to 2 x pitch,




BULLHOFT |

Drilling & Tapping Depths - Unified

UNC 1D 1.5D 2D 2.5D 3D

2-56 0.086 | 0068 | 0.166 | 0.148 | 0.129 | 0.111 | 0209 | 0.191 | 0.172 | 0.154 | 0.252 | 0.234 | 0.215 | 0.197 | 0.295| 0.277 | 0.258 | 0.240 | 0.338 | 0.320
3-48 0099 | 0078 | 0.193| 0.172 | 0.148 | 0.127 | 0242 | 0221 | 0.198 | 0.177 | 0.292 | 0.271 | 0.248 | 0.227 | 0.342| 0.321 | 0.297 | 0.276 | 0.391 | 0.370
4-40 0.112 | 0087 | 0.224 | 0.199 | 0.168| 0.143 | 0.280 | 0.255 | 0.224 | 0.199 | 0.336 | 0.311 | 0.280 | 0.255 | 0.392| 0.367 | 0.336 | 0311 | 0.448 | 0.423
5-40 0.125 | 0.100| 0.237 | 0.212 | 0.187 | 0.162 | 0.300 | 0.275 | 0.250 | 0.225| 0.362 | 0.337 | 0.312 | 0.287 | 0.425| 0.400 | 0.375| 0.350 | 0.487 | 0.462
632 0.138 | 0.107 | 0.279 | 0.247 | 0207 | 0.176 | 0.348 | 0.316 | 0.276 | 0.245| 0.417 | 0.385 | 0.345 | 0.314 | 0.486| 0.454| 0.414 | 0.383 | 0.555 | 0.523
8-32 0.164 | 0.133 | 0.305| 0.273 | 0.246| 0215 | 0.387 | 0.355 | 0.328 | 0.297 | 0.469 | 0.437 | 0.410 | 0.379 | 0.551| 0.519 | 0.492 | 0.461 | 0.633 | 0.601

10-24 0.190 | 0.148 | 0.377 | 0.336 | 0.285| 0.243 | 0.472 | 0.431 | 0.380 | 0.338 | 0.567 | 0.526 | 0.475 | 0.433 | 0.662| 0.621| 0.570 | 0.528 | 0.757 | 0.716
12-24 0216 | 0.174 | 0.404 | 0.362 | 0.324| 0282 | 0.512 | 0.470 | 0.432 | 0.390 | 0.620 | 0.578 | 0.540 | 0.498 | 0.727| 0.686 | 0.648 | 0.606 | 0.836 | 0.794
1/4-20 0.250 | 0.200 | 0.475| 0.425 | 0.375| 0.325 | 0.600 | 0.550 | 0.500 | 0.450 | 0.725 | 0.675 | 0.625 | 0.575| 0.850| 0.800| 0.750 | 0.700 | 0.975 | 0.925
5/16-18 0312 | 0.257 | 0.562 | 0.507 | 0.469 | 0.413 | 0.719 | 0.663 | 0.625 | 0.569 | 0.875 | 0.819 | 0.781 | 0.726 | 1.031| 0.976 | 0.937 | 0.882 | 1.187 | 1.132
3/8-16 0375 | 0312 0.656 | 0.594 | 0.562| 0.500 | 0.844 | 0.781 | 0.750 | 0.687 | 1.031 | 0.969 | 0.937 | 0.875| 1.219| 1.156 | 1.125| 1.062 | 1.406 | 1.344
7614 0.437 | 0.366 | 0.759 | 0.687 | 0.656 | 0.585 | 0.978 | 0.906 | 0.875 | 0.804| 1.196 | 1.125 | 1.094 | 1.022 | 1.415| 1.343| 1.312 | 1.24]1 | 1.634 | 1.562
1/2-13 0.500 | 0.423 | 0.846 | 0.769 | 0.750 | 0.673 | 1.096 | 1.019 | 1.000 | 0.923 | 1.346 | 1.269 | 1.250 | 1.173 | 1.596| 1.519 | 1.500 | 1.423 | 1.846 | 1.769
9/16-12 0.562 | 0.479 | 0.937 | 0.854 | 0.844| 0.760 | 1219 | 1135 | 1.125 | 1.042| 1.500 | 1.417 | 1.406 | 1.323 | 1.781| 1.698| 1.687 | 1.604 | 2.062 | 1.979
5/8-11 0.625 | 0.534| 1.034 | 0.943 | 0.937 | 0.846 | 1.347 | 1256 | 1.250 | 1.159 | 1.659 | 1.568 | 1.562 | 1.471 | 1.972| 1.881| 1.875| 1.784 | 2284 | 2.193
3/4-10 0.750 | 0.650 | 1.200 | 1.100 | 1.125| 1.025 | 1.575 | 1.475 | 1.500 | 1.400 | 1.950 | 1.850 | 1.875 | 1.775| 2.325| 2.225| 2250 | 2.150 | 2.700 | 2.600
7/8-9 0.875 | 0.764| 1.375| 1.264 | 1.312| 1201 | 1.812 | 1.701 | 1.750 | 1.639 | 2250 | 2.139 | 2.187 | 2076 | 2.687 | 2.576| 2.625| 2.514 | 3.125 | 3.014
1-8 1.000 | 0.875| 1.563 | 1.437 | 1.500| 1.375 | 2062 | 1.937 | 2000 | 1.875| 2.562 | 2.437 | 2.500 | 2.375 | 3.062| 2937 | 3.000 | 2.875 | 3.562 | 3.437
1-1/8-7 1.125 | 0.982| 1.768 | 1.625 | 1.687 | 1.545 | 2.330 | 2.187 | 2250 | 2.107 | 2893 | 2750 | 2812 | 2.670 | 3.455| 3.312| 3.375| 3.232 | 4018 | 3.875
1-1/4-7 1250 | 1.107 | 1.893 | 1.750 | 1.875| 1.732 | 2.518 | 2375 | 2.500 | 2.357 | 3.143 | 3.000 | 3.125 | 2.982 | 3.768| 3.625| 3.750 | 3.607 | 4.393 | 4250
1-3/8-6 1375 | 1208 | 2.125| 1.958 | 2062 | 1.896 | 2812 | 2.646 | 2750 | 2.583 | 3.500 | 3.333 | 3.437 | 3.270 | 4.187| 4.021| 4125 | 3.958 | 4.875  4.708
1-1/2-6 1.500 | 1.333 | 2250 | 2083 | 2250 | 2.083 | 3.000 | 2833 | 3.000 | 2.833 | 3.750 | 3.583 | 3.750 | 3.583 | 4.500| 4.333 | 4.500 | 4.333 | 5250 | 5.083

UNF

D D D D D
Q R S T Q R S T Q R S T Q R S T S T
2-64 0086 | 0070 | 0.156 | 0.141 | 0.129 | 0.113 | 0.199| 0.184 | 0.172 | 0.156 | 0.242 | 0.227 | 0.215 | 0.199 | 0.285| 0270 | 0.258 | 0.242 | 0.328 | 0.313
3-56 0.099 | 0.081 | 0.179 | 0.161 | 0.148| 0.130 | 0.228| 0.210 | 0.198 | 0.180 | 0.278 | 0.260 | 0.248 | 0.230 | 0.328| 0.310 | 0.297 | 0.279 | 0.377 | 0.359
4-48 0.112 | 0.091 | 0206 | 0.185 | 0.168| 0.147 | 0.262| 0.241 | 0.224 | 0.203 | 0.318 | 0.297 | 0280 | 0.259 | 0.374| 0.353 | 0.336 | 0.315 | 0.430 | 0.409
5-44 0.125 | 0.102 | 0.227 | 0.205 | 0.188| 0.165 | 0.290| 0.268 | 0.250 | 0.227 | 0.352 | 0.330 | 0.312 | 0.289 | 0.414| 0.392 | 0.375| 0.352 | 0.477 | 0.455
6-40 0.138 | 0.113| 0.250 | 0.225 | 0207 | 0.182 | 0.319| 0.294 | 0.276 | 0.251 | 0.388 | 0.363 | 0.345 | 0.320 | 0.457 | 0.432 | 0.414 | 0.389 | 0.526 | 0.501
8-36 0.164 | 0.136 | 0.289 | 0.261 | 0.246| 0218 | 0.371| 0.343 | 0.328 | 0.300 | 0.453 | 0.425 | 0.410 | 0.382 | 0.535| 0.507 | 0.492 | 0.464 | 0.617 | 0.589

10-32 0.190 | 0.159 | 0331 | 0.299 | 0.285| 0.254 | 0.426| 0.394 | 0.380 | 0.349 | 0.521 | 0.489 | 0.475 | 0.444 | 0.616| 0.584 | 0.570 | 0.539 | 0.711 | 0.679
1/4-28 0.250 | 0.214| 0.411 | 0375 | 0.375| 0.339 | 0.536| 0.500 | 0.500 | 0.464 | 0.661 | 0.625 | 0.625 | 0.58? | 0.786| 0.750 | 0.750 | 0.714 | 0.911 | 0.875
5/16-24 0312 | 0.271 | 0.500 | 0.458 | 0.469 | 0.428 | 0.656| 0.615 | 0.625 | 0.583 | 0.812 | 0.771 | 0.781 | 0.740 | 0.969 | 0.927 | 0.937 | 0.896 | 1.125 | 1.083
3/8-24 0.375 | 0.333| 0.562 | 0.521 | 0.562| 0.521 | 0.750| 0.708 | 0.750 | 0.708 | 0.937 | 0.896 | 0.937 | 0.896 | 1.125| 1.083 | 1.125| 1.083 | 1.312 | 1.271
71620 0.437 | 0387 | 0.662 | 0.612 | 0.656 | 0.606 | 0.881| 0.831 | 0.875 | 0.825| 1.100 | 1.050 | 1.094 | 1.044 | 1.319| 1269 | 1.312 | 1.262 | 1.537 | 1.488
1/2-20 0.500 | 0.450 | 0.725| 0.675 | 0.750| 0.700 | 0.975| 0.925 | 1.000 | 0.950| 1.225| 1.175 | 1250 | 1.200 | 1.475| 1.425| 1.500 | 1.450 | 1.725 | 1.675
9/16-18 0.562 | 0.507 | 0.812| 0.757 | 0.844| 0.788 | 1.094| 1.038 | 1.125 | 1.068 | 1.375| 1.319 | 1.406 | 1.351 | 1.656| 1.601 | 1.687 | 1.632 | 1.937 | 1.882
5/8-18 0.625 | 0.569 | 0.875| 0819 | 0.937| 0.882 | 1.187| 1.132 | 1.250 | 1.194| 1.500 | 1.444 | 1.562 | 1.507 | 1.812| 1.757 | 1.875| 1.819 | 2.125 | 2.069
3/4-16 0.750 | 0.687 | 1.031 | 0.969 | 1.125| 1.062 | 1.406| 1.344 | 1.500 | 1.437 | 1.781 | 1.719 | 1.875| 1812 | 2.156| 2094 | 2250 | 2.187 | 2.531 | 2.469
7/8-14 0.875 | 0.804 | 1.196 | 1.125 | 1.312| 1.241 | 1.634| 1.562 | 1.750 | 1.679 | 2071 | 2000 | 2187 | 2.116 | 2.509 | 2.437 | 2.625 | 2.554 | 2.946 | 2.875
1-12 1.000 | 0917 1.375| 1292 | 1.500| 1.417 | 1.875| 1.792 | 2000 | 1917 | 2375| 2292 | 2.500 | 2417 | 2.875| 2792 | 3.000 | 2917 | 3.375 | 3.292
1-1/8-12 1.125 | 1.042 | 1.500 | 1.417 | 1.687 | 1.604 | 2.062| 1.979 | 2250 | 2.167 | 2.625| 2.542 | 2.812 | 2.729 | 3.187| 3.104 | 3.375| 3.292 | 3.750 | 3.667
1-1/4-12 1.250 | 1.167 | 1.625| 1.542 | 1.875| 1.792 | 2250| 2167 | 2500 | 2417 | 2.875| 2792 | 3.125| 3.042 | 3.500| 3.417 | 3.750 | 3.667 | 4.125 | 4042
1-3/8-12 1375 | 1.292| 1.750 | 1.667 | 2.062| 1.979 | 2.437| 2.354 | 2750 | 2.667 | 3.125| 3.042 | 3.437 | 3.354 | 3.812| 3729 | 4.125| 4.042 | 4.500 | 4.417
1-12-12 1.500 | 1.417 | 1.875| 1.792 | 2250 | 2.167 | 2.625| 2.542 | 3.000 | 2917 | 3375 | 3292 | 3.750 | 3.667 | 4.125| 4.042 | 4.500 | 4.417 | 4875 | 4792




B SULLHOFF
BSW

OCEANUS -

Drilling & Topping Depths

1/8-40 0.125 | 0.100 | 0.237 | 0.212 | 0.187 | 0.162 | 0.299 | 0.274 | 0.250 | 0.225 | 0.362 | 0.337 | 0.312 | 0.287 | 0.425 | 0.400 | 0.375 | 0.350 | 0.487 | 0.462
3/16-24 | 0.187 | 0.146 | 0375 | 0.332 | 0.281 | 0.240 | 0.468 | 0.426 | 0.375 | 0.334 | 0.562 | 0.520 | 0.468 | 0.427 | 0.656 | 0.612 | 0.562 | 0.521 | 0.750 | 0.708
1/4-20 0.250 | 0.200 | 0.475 | 0.425 | 0.375 | 0.325 | 0.600 | 0.550 | 0.500 | 0.450 | 0.725 | 0.675 | 0.625 | 0.575 | 0.850 | 0.800 | 0.750 | 0.700 | 0.975 | 0.925
516-18 | 0312 | 0.257 | 0.562 | 0.507 | 0.469 | 0.413 | 0.719 | 0.663 | 0.625 | 0.569 | 0.875 | 0.819 | 0.781 | 0.726 | 1.031 | 0.976 | 0.937 | 0.882 | 1.187 | 1.132
3/8-16 0.375 | 0.312 | 0.656 | 0.594 | 0.562 | 0.500 | 0.844 | 0.781 | 0.750 | 0.687 | 1.031 | 0.969 | 0.937 | 0.875 | 1.219 | 1.156 | 1.125 | 1.062 | 1.406 | 1.344
71614 | 0.437 | 0.366 | 0.759 | 0.687 | 0.656 | 0.585 | 0.978 | 0.906 | 0.875 | 0.804 | 1.196 | 1.125 | 1.093 | 1.022 | 1.415 | 1.343 | 1.312 | 1.241 | 1.634 | 1.562
1/2-12 0.500 | 0.417 | 0.875 | 0.792 | 0.750 | 0.667 | 1.125 | 1.042 | 1.000 | 0.217 | 1.375 | 1.292 | 1.250 | 1.167 | 1.625 | 1.542 | 1.500 | 1.417 | 1.875 | 1.792
9/16-12 | 0.562 | 0.479 | 0.937 | 0.854 | 0.844 | 0.760 | 1.219 | 1.135 | 1.125 | 1.042 | 1.500 | 1.417 | 1.406 | 1.323 | 1.781 | 1.698 | 1.687 | 1.604 | 2.062 | 1.979
5811 0.625 | 0.534 | 1.034 | 0.943 | 0.937 | 0.846 | 1.347 | 1.256 | 1.250 | 1.159 | 1.659 | 1.568 | 1.562 | 1.471 | 1.972 | 1.881 | 1.875 | 1.784 | 2.284 | 2.193
11/16-11 | 0.687 | 0.596 | 1.097 | 1.006 | 1.031 | 0.940 | 1.441 | 1.350 | 1.375 | 1.284 | 1.785 | 1.694 | 1.718 | 1.627 | 2128 | 2037 | 2062 | 1.971 | 2.472 | 2.381
3/4-10 0.750 | 0.650 | 1.200 | 1.100 | 1.125 | 1.025 | 1.575 | 1.475 | 1.500 | 1.400 | 1.950 | 1.850 | 1.875 | 1.775 | 2.325 | 2225 | 2250 | 2.150 | 2.700 | 2.600
7/8-9 0.875 | 0.764 | 1.375 | 1264 | 1.312 | 1.201 | 1.812 | 1.701 | 1.750 | 1.639 | 2.250 | 2.139 | 2.187 | 2.076 | 2.687 | 2.576 | 2.625 | 2.514 | 3.125 | 3.014
1-8 1.000 | 0.875 | 1.563 | 1.437 | 1.500 | 1.375 | 2.062 | 1.937 | 2000 | 1.875 | 2.562 | 2.437 | 2.500 | 2.375 | 3.062 | 2.937 | 3.000 | 2.875| 3.562 | 3.437
1-1/8-7 1.125 | 0.982 | 1.768 | 1.625| 1.687 | 1.545 | 2.330 | 2.187 | 2250 | 2.107 | 2.893 | 2.750 | 2.812 | 2.670 | 3.455 | 3.312 | 3.375 | 2232 | 4018 | 3.875
1-1/4-7 1.250 | 1.107 | 1.893 | 1.750 | 1.875 | 1.732 | 2.518 | 2.375 | 2.500 | 2.357 | 3.143 | 3.000 | 3.125 | 2.982 | 3.768 | 3.625 | 3.750 | 3.607 | 4.393 | 4.250
1-1/2-6 1.500 | 1.333 | 2.250 | 2.083 | 2.250 | 2.083 | 3.000 | 2.833 | 3.000 | 2.833 | 3.750 | 3.583 | 3.750 | 3.583 | 4.500 | 4.333 | 4.500 | 4.333 | 5.250 | 5.083
R D D D D D
Q R S T Q R S T Q R S T Q R S T S T
3/16-32 0.187 | 0.156 | 0.327 | 0.296 | 0.281 | 0.250 | 0.421 | 0.390 | 0.375 | 0.344 | 0.515 | 0.484 | 0.468 | 0.437 | 0.608 | 0.577 | 0.562 | 0.531 | 0.702 | 0.671
7/32-28 0218 | 0.182 | 0.379 | 0.343 | 0.328 | 0.292 | 0.489 | 0.453 | 0.437 | 0.401 | 0.598 | 0.562 | 0.546 | 0.510 | 0.707 | 0.671 | 0.656 | 0.620 | 0.817 | 0.781
1/4-26 0.250 | 0.212 | 0.423 | 0.385 | 0.375 | 0.337 | 0.548 | 0.510 | 0.500 | 0.462 | 0.673 | 0.635 | 0.625 | 0.587 | 0.798 | 0.760 | 0.750 | 0.712 | 0.923 | 0.885
9/32-26 0.281 | 0.243 | 0.454 | 0.416 | 0.421 | 0.383 | 0.594 | 0.556 | 0.562 | 0.524 | 0.735 | 0.697 | 0.703 | 0.665 | 0.876 | 0.838 | 0.843 | 0.805| 1.016 | 0.978
5/16-22 0312 | 0.267 | 0.516 | 0.471 | 0.469 | 0.424 | 0.673 | 0.628 | 0.625 | 0.580 | 0.829 | 0.784 | 0.781 | 0.736 | 0.985 | 0.940 | 0.937 | 0.892 | 1.141 | 1.096
3/8-20 0.375 | 0.325 | 0.600 | 0.550 | 0.562 | 0.512 | 0.787 | 0.737 | 0.750 | 0.700 | 0.975 | 0.925 | 0.937 | 0.887 | 1.162 | 1.112 | 1.125 | 1.075| 1.350 | 1.300
7/16-18 0.437 | 0.381 | 0.687 | 0.631 | 0.656 | 0.600 | 0.906 | 0.850 | 0.875 | 0.819 | 1.125 | 1.069 | 1.093 | 1.037 | 1.343 | 1.287 | 1.312 | 1.256 | 1.562 | 1.506
1/2-16 0.500 | 0.437 | 0.781 | 0.719 | 0.750 | 0.688 | 1.031 | 0.969 | 1.000 | 0.938 | 1.281 | 1.219 | 1.250 | 1.188 | 1.531 | 1.469 | 1.500 | 1.438 | 1.781 | 1.719
9/16-16 0.562 | 0.500 | 0.843 | 0.781 | 0.844 | 0.782 | 1.125 | 1.063 | 1.125 | 1.062 | 1.406 | 1.344 | 1.406 | 1.344 | 1.687 | 1.625 | 1.687 | 1.625| 1.968 | 1.906
5/8-14 0.625 | 0.554 | 0.946 | 0.875 | 0.937 | 0.866 | 1.258 | 1.187 | 1.250 | 1.179 | 1.571 | 1.500 | 1.562 | 1.491 | 1.883 | 1.812 | 1.875 | 1.804 | 2.196 | 2.125
11/16-14 | 0.687 | 0.616 | 1.008 | 0.937 | 1.031 | 0.960 | 1.352 | 1.281 | 1.375 | 1.304 | 1.696 | 1.625 | 1.718 | 1.647 | 2039 | 1.968 | 2062 | 1.991 | 2.383 | 2.312
3/4-12 0.750 | 0.667 | 1.125 | 1.042 | 1.125 | 1.042 | 1.500 | 1.417 | 1.500 | 1.417 | 1.875 | 1.792 | 1.875 | 1.792 | 2250 | 2.167 | 2.250 | 2.167 | 2.625 | 2.542
13/16-12 | 0.812 | 0.729 | 1.187 | 1.104 | 1.218 | 1.135 | 1.593 | 1.510 | 1.625 | 1.542 | 2000 | 1.917 | 2031 | 1.948 | 2.406 | 2.323 | 2.437 | 2.354 | 2.812 | 2.729
7/8-11 0875 | 0.784 | 1.284 | 1.193 | 1.312 | 1.221 | 1.721 | 1.630 | 1.750 | 1.659 | 2.159 | 2.068 | 2.187 | 2.096 | 2.596 | 2.505 | 2.625 | 2.534 | 3.034 | 2.943
1-10 1.000 | 0.900 | 1.450 | 1.350 | 1.500 | 1.400 | 1.950 | 1.850 | 2000 | 1.900 | 2.450 | 2.350 | 2.500 | 2.400 | 2.950 | 2.850 | 3.000 | 2.900 | 3.450 | 3.350
1-1/8-9 1.125 | 1.014 | 1.625 | 1.514 | 1.687 | 1.576 | 2.187 | 2.076 | 2250 | 2139 | 2.750 | 2.639 | 2.812 | 2.701 | 3.312 | 3.201 | 3.375 | 3.264 | 3.875 | 3.764
1-1/4-9 1.250 | 1.139 | 1.750 | 1.639 | 1.875 | 1.764 | 2.375 | 2.264 | 2.500 | 2.389 | 3.000 | 2.889 | 3.125 | 3.014 | 3.625 | 3.514 | 3.750 | 3.639 | 4.250 | 4.139
1-3/8-8 1.375 | 1250 | 1.938 | 1.813 | 2062 | 1.937 | 2.625 | 2.500 | 2.750 | 2.625 | 3312 | 3.188 | 3.437 | 3.312 | 4000 | 3.875 | 4.125 | 4.000 | 4.688 | 4.563
1-1/2-8 1.500 | 1.375 | 2063 | 1.938 | 2250 | 2.125 | 2813 | 2.688 | 3.000 | 2.875 | 3.563 | 3.438 | 3.750 | 3.625 | 4313 | 4.188 | 4.500 | 4.375| 5.063 | 4.938

G (BSPF)

1828 | 0125 | 0089 | 0287 | 0251 | 0.187 | 0.151 | 0.349 | 0313 | 0.250 | 0214 | 0.412 | 0376 | 0.312 | 0.276 | 0.474 | 0.438 | 0.375 | 0.339 | 0.537 | 0.501
1419 | 0250 | 0.197 | 0.488 | 0.435 | 0.375 | 0.322 | 0.613 | 0.560 | 0.500 | 0.447 | 0.738 | 0.685 | 0.625 | 0.572 | 0.863 | 0810 | 0.750 | 0.697 | 0.988 | 0.935
3819 | 0375 | 032 | 0.613 | 0.560 | 0.562 | 0.509 | 0.800 | 0747 | 0.750 | 0.697 | 0.988 | 0.935 | 0.937 | 0.884 | 1.175 | 1.122 | 1.125 | 1.072 | 1.363 | 1.310
1214 | 0500 | 0.429 | 0.820 | 0.749 | 0.750 | 0.679 | 1.070 | 0.999 | 1.000 | 0.929 | 1.320 | 1.249 | 1.250 | 1.179 | 1570 | 1.499 | 1.500 | 1.429 | 1.820 | 1.749
5814 | 0625 | 0.554 | 0.945 | 0.874 | 0.937 | 0866 | 1257 | 1.186 | 1250 | 1179 | 1.570 | 1.499 | 1.562 | 1491 | 1.882 | 1.811 | 1.875 | 1804 | 2.195 | 2.124
3414 | 0750 | 0.679 | 1070 | 0999 | 1.125 | 1.054 | 1.445 | 1.374 | 1.500 | 1429 | 1820 | 1.749 | 1875 | 1.804 | 2195 | 2124 | 2250 | 2.179 | 2.570 | 2.499
7814 | 0875 | 0.804 | 1195 | 1.124 | 1312 | 1241 | 1.632 | 1.561 | 1.750 | 1.679 | 2070 | 1.999 | 2.187 | 2116 | 2.507 | 2.436 | 2.625 | 2.554 | 2945 | 2.874
-1 1000 | 0909 | 1.410 | 1.319 | 1.500 | 1.409 | 1910 | 1819 | 2000 | 1.909 | 2.410 | 2319 | 2.500 | 2.409 | 2910 | 2819 | 3000 | 2909 | 3410 | 3319
1-1/411 | 1250 | 1159 | 1.660 | 1.569 | 1875 | 1.784 | 2285 | 2194 | 2.500 | 2409 | 2910 | 2819 | 3.125 | 3.034 | 3535 | 344 | 3.750 | 3.659 | 4.160 | 4.069
1-12-11 | 1500 | 1.409 | 1910 | 1819 | 2250 | 2.159 | 2.660 | 2.569 | 3000 | 2.909 | 3410 | 3319 | 3.750 | 3.659 | 4.160 | 4069 | 4500 | 4.409 | 4910 | 4819
o A D D D D D
D

Q R S T Q R S T Q R S T Q R S T S T
OBA 0236 | 0.197 | 0.413 | 0374 | 0.354 | 0.315 | 0531 | 0.492 | 0.472 | 0.433 | 0.649 | 0.610 | 0.591 | 0.552 | 0.768 | 0.729 | 0.709 | 0.670 | 0.886 | 0.847
1BA 0209 | 0.174 | 0368 | 0.333 | 0.313 | 0.278 | 0.472 | 0.437 | 0.417 | 0.382 | 0576 | 0541 | 0522 | 0.487 | 0.681 | 0.646 | 0.626 | 0.591 | 0785 | 0.750
2BA 0.185 | 0.153 | 0329 | 0.297 | 0.278 | 0.246 | 0.422 | 0.390 | 0.370 | 0.338 | 0.514 | 0.482 | 0.463 | 0.431 | 0.607 | 0575 | 0.555 | 0.523 | 0.699 | 0.667
3BA 0.161 | 0132 | 0291 | 0262 | 0.242 | 0.213 | 0372 | 0343 | 0323 | 0.294 | 0.453 | 0.424 | 0.404 | 0375 | 0.534 | 0.505 | 0.484 | 0.455 | 0.614 | 0.585
4BA 0.142 | 0.116 | 0259 | 0233 | 0.213 | 0.187 | 0.330 | 0.304 | 0.283 | 0.257 | 0.400 | 0.374 | 0.354 | 0.328 | 0.471 | 0.445 | 0.425 | 0.399 | 0.542 | 0.516
5BA 0.126 | 0.103 | 0230 | 0.207 | 0.189 | 0.166 | 0293 | 0.270 | 0.252 | 0.229 | 0.356 | 0.333 | 0.315 | 0.292 | 0.419 | 0.396 | 0.378 | 0.355 | 0.482 | 0.459
6BA 0.110 | 0.089 | 0.204 | 0.183 | 0.165 | 0.144 | 0259 | 0.238 | 0220 | 0.199 | 0.314 | 0.293 | 0.276 | 0.255 | 0.370 | 0.349 | 0.331 | 0.310 | 0.425 | 0.404




 Cceanus BOLLHOrF

Examples of application for HELICOIL® thread inserts

Automotive, ceros pace industry

Gear box housing of magnesium dloys
Thread reinforcement for oil aran plugs
Exhaust systems

S atellite technology

Aeroplone engines

Repeated Assembly

Maintenonce ond repar

Steering gear cosings of duminium

Electronics, sheet metdl, plostic

Lamps
Electricd goplionces
Drill hammer

Mounting plate for electricd components of die-cost duminium

Machines and plont

Printing presses

High-temperature arecs

TronsIation threads (adjusting screws)
Repecated s arewings

Maintenonce ond repar

Mechanicd engineering cons ole Materid: G-AISi9 Mg

Further examples of application

Qll ardn hole of a car ail sump of duminium. Thread reinforcement with HELICOIL®




B EOLLHOFF

Professiond Single Size Kits

METRIC

OCEANUS -

BSW

UNC

KIT SIZE gENerVeNee)= INSERT QY. KIT SIZE gENe»VeNee)= INSERT QY. KIT SIZE gENe3V/ONee)= INSERT QY.
M3 X0.5 71671745643 50 1/8-40 71671745627 50 2-56 71671745600 50
M3.5X0.6 71671745644 50 3/16-24 71671745628 50 4-40 71671745610 50
M X0.7 71671745645 50 1/4-20 71671745629 50 5-40 71671745611 50
M5 X 0.8 71671745646 50 5/16-18 71671745630 50 632 71671745612 50
3816 71671745631 25
el b = 723;3 14 71671745632 25 & T171745€13 %
M X1.0 Aeyles) %0 10-24 71671745614 50
5 12-24 71671745615 50
MBX1.0 71671745652 50 /16-12 71671745670 25
1/4-20 71671745616 50
MIOX 1.5 71671745649 25 5B 71671745671 12
MIOX10 TG % 171611 71671745672 12 5/16-18 71671745617 50
iox s P 3/4-10 71671745673 12 3816 71671745618 25
MITX15 | 71671745654 25 B9 NE 57 12 7N16-14 71671745619 2%
MI2X1.75| 71671745650 25 -8 71620830000 ¢ 12-13 71671745620 25
MI2X15 | 71671745655 25 M7 | 71620830200 é 9612 | 71671745660 12
1-1/4-7* 71620830300 6
MI4X20 71671745679 25 ! 58-11 71671745661 12
1-1/2-6* 71620830400 6
MI4X 1.5 71671745678 25 3/4-10 71671745662 12
MI6X 1.5 71671745680 12 789 71671745663 12
MI6X 2.0 71671745681 12 B S F . 71620831800 6
MI8 X 2.0 71671745683 12 QUd e . PET G s
MI8 X2.5 71671745684 12 3/16-32 71671745621 50 1-3/8.6" 71620832100 6
MOX15 e 12 1/4-26 71671745622 50 6 | 71620832200 5
M20 X 2.5 71671745687 12 e T o
M2 X 1. 716717, 12
° 671745688 3/8-20 71671745624 25
M22 X 2.0 71671745689 12 U N F
7/16-18 71671745625 25
M2 X 2.5 71671745690 12
MOAX30" | 71650824300 6 17216 71671745626 % KIT SIZE PROJUG @)=l INSERT @Y.
" 9/16-16 71671745664 25
M24 X 2.0 71650825100 6 N 4-48 71671745601 50
58-14 71671745665 12
MBOX3.5% | 71650824500 6 o0 e 0
11614 71671745666 12
836 71671745603 50
G B S P F 3/4-12 71671745667 12
10-32 71671745604 50
13/16-12 71671745668 12
1/4-28 71671745605 50
KIT SIZE PROJUCT @esH INSERT QY. Z:al 71671745669 12 PrYEYR By, “
1828 71671745634 25 1-10° #leztez0iy 6
By 160089100 s 3/8-24 71671745607 50
1/4-19 71671745635 25 18 e 1671745408 s
3819 71671745675 16 1-1/4-9 71620829200 6 20 174400 o
12-14 71671745676 16 1-3/8-8" 71620829300 6
-1 2
5/8-14 71671745677 16 1-1/2-8 71620829400 6 N8 71671745656 °
VRV D 5 58-18 71671745657 12
7814 71620832700 % 3/4-16 71671745658 12
-1 71620832800 6 7/8-14 71671745659 12
1-1/4-11%| 71620832900 6 1-12% 71620830900 6
1-1/8-12* 71620831000 6
B A 1-1/4-12 71620831100 6
1-3/8-12* 71620831200 6
KIT SIZE PRCDUC[ QGDE INSERT QY. 1-1/2-12* 71620831300 6
OBA 71671745636 50
1BA 71671745637 50
2BA 71671745638 50
3BA 71671745639 50 . .
oA e A - Professiond Kit
5BA 71671745641 50
6BA 71671745642 50

* Not ovdlddein Plastic Gse




SULLHOFF

Other repair kit options

/ Helicoil \

HELICOIL® Eco-Kits

The Eco-Kit can be used in numerous situations

Itis aquick and economicd solution to ony type of thread repar, regardiess of
opplication. HELICOIL® Eco-Kits contan dl the necessary todls and inserts together
with step by step instructions for use.

Kits are avadlddle in dl common Metric, unified (UNF & UNC), BSF, BSW, G (BSP)
thread forms o5 well os M10, M12 & M14 spark plug repair kits. (Leaflet availaole)

HELICOIL® plus thread repair kit

The flexible and engineered s olution

HELICOIL® plus thread repar kits dlow ecsy ins tdlction of a new thread in only a few
steps. Kits contan dl the necessary todls and three different lengths of HELICOIL®
plus inserts, together with step by step instructions for use. The reduced first coil

of the HELICOIL® plus insert further simplifies the repair.

(see HELICOIL® plus repdring of domaged threads cotdogue)

HELICOIL® plus range kit

The workshop and automotive solution

Kits indlude different diometers of todls cnd inserts e.g. M5-M12 ond Mé-M14.
They each contain three different lengths of HELICOIL® plus inserts, HSS tops, drills,
ins tdlation ond tong breck off todls. Avdlddle in metric, unified and traditiond British
thread forms. S pedidist automotive kits are availddle for spark plug, lombdasensor,
sump plug ond steering joint repairs .

(see HELICOIL® plus repdiring of damaged threads catdogue)

HELICOIL® professiondl kit

The professiond repair solution

If atechnicd component fals that requires professiond repair to the highest leve,
the sinde size HELICOIL® professiond kit meets the most s tringent requirements.
It provides full ceros pace tracedility ond monufacturers ’ relecs e certificates for
theinserts.




B dllhoff International with companies in:

Apart from these 21 count
cus tomers in other tont

OCEANUS

HAI JU TRADING CO.,LTD.

R % 5 A MR o 8
SdbH P L& P L JEEE — 6283635
TEL : (02) 2511-8900

FAX : (02) 2511-8902

P.C. - 10448

E-MAIL : Hai.ju@msa.hinet.net
HTTP - www.oceanus.com.tw

Argentina
Ausri

Subject to technicd chonge.
Reprinting, even in extract form, only permitted with express consent.
Obs erve protective note according to DIN 34.

BOLLHOFF

Armstrong Limited



